
MATHS

BOOKS - RD SHARMA MATHS (ENGLISH)

DEFINITE INTEGRALS

Others

1. Evaluate :


Watch Video Solution

∫
0

cos x cos 2xdx

π

6

2. Evaluate :


Watch Video Solution

∫
0

cos3 xdx

π

2

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_HOpzFsD0lMRC
https://dl.doubtnut.com/l/_sJtFFMmFdN5i


3. Evaluate :


Watch Video Solution

∫
0

secxdx

π

4

4. 

Watch Video Solution

∫
π / 2

π / 4
cot xdx = ?

5. Evaluate :


Watch Video Solution

∫
0

(sinx + cos x)dx

π

2

6. Evaluate :


Watch Video Solution

∫
3

− 2
dx

1

x + 7

https://dl.doubtnut.com/l/_5IBPqlJXwnGJ
https://dl.doubtnut.com/l/_u6REStEb2mMJ
https://dl.doubtnut.com/l/_cLiGM775WPmC
https://dl.doubtnut.com/l/_VHaqiNpu4tRT


7. Evaluate :


Watch Video Solution

∫
π

0

dx
1

1 + sinx

8. Evaluate :


Watch Video Solution

∫
4

1

dx
x2 + x

√2x + 1

9. Evaluate :


Watch Video Solution

∫
1

0

x(1 − x)5
dx

10. Evaluate :


Watch Video Solution

∫
2

1
( )exdx
x − 1

x2

https://dl.doubtnut.com/l/_mcVnd0dUWoJM
https://dl.doubtnut.com/l/_M1Sp18mDDe6g
https://dl.doubtnut.com/l/_pLWfLzjoP91R
https://dl.doubtnut.com/l/_TBqe6Nt88K09


11. Evaluate :


Watch Video Solution

∫
1

0
√x(1 − x)dx

12. Evaluate :


Watch Video Solution

∫
2

0
dx

1

√3 + 2x − x2

13. Evaluate :


Watch Video Solution

∫
0

(tanx + cot x) − 2
dx

π

4

14. Evaluate :


Watch Video Solution

∫
1

0

(xe2x + sin( ))dx
πx

2

https://dl.doubtnut.com/l/_I2VAJe9CTXDy
https://dl.doubtnut.com/l/_97Diyv0ehmeE
https://dl.doubtnut.com/l/_BXZ0OJWWEGcO
https://dl.doubtnut.com/l/_GXri0zFPHvFP


15. Evaluate :


Watch Video Solution

∫
1

0
dx

1

1 + 2x + 2x2 + 2x3 + x4

16. Evaluate :


Watch Video Solution

∫
1

0
x log(1 + 2x)dx

17. Evaluate :


Watch Video Solution

∫
3

2

dx
x

x2 + 1

18. Evaluate :


Watch Video Solution

∫
∞

0
e−xdx

https://dl.doubtnut.com/l/_zWL985Ix8W2n
https://dl.doubtnut.com/l/_fH67rVvhXCo0
https://dl.doubtnut.com/l/_LX2au9iZoziC
https://dl.doubtnut.com/l/_dfmusHLGfh7G


19. Evaluate :


Watch Video Solution

∫
0

x2 sinxdx

π

2

20. Evaluate :


Watch Video Solution

∫
9

4

dx
1

√x

21. Evaluate :


Watch Video Solution

∫
0

√1 + sinxdx

π

2

22. Evaluate :


Watch Video Solution

∫
0

dx

1
2 1

√1 − x2

https://dl.doubtnut.com/l/_G2bELD3eUfqJ
https://dl.doubtnut.com/l/_zW4B0UHNryz7
https://dl.doubtnut.com/l/_NsjGVg9uJaZi
https://dl.doubtnut.com/l/_CI6Hyw0KbAz6


23. Evaluate :


Watch Video Solution

∫
1

0
dx

1

1 + x2

24. Evaluate :


Watch Video Solution

∫
π / 2

0
(a2 cos2 x + b2 sin2 x)dx

25. Evaluate :


Watch Video Solution

∫
∞

0

dx
1

a2 + b2x2

26. Evaluate :


Watch Video Solution

∫ (tanx + cot x)2
dx

π

4

π

3

https://dl.doubtnut.com/l/_IyovfpPigCsT
https://dl.doubtnut.com/l/_3y5oKFTLEXUu
https://dl.doubtnut.com/l/_z0EVuU6zDbU9
https://dl.doubtnut.com/l/_zTeVP9ZBgtfn


27. Evaluate :


Watch Video Solution

∫
e

1
dx

logx

x

28. Evaluate :


Watch Video Solution

∫
2π

0
ex cos( + )dx

π

4

x

2

29. Evaluate :


Watch Video Solution

∫
2

1

dx
x + 3

x(x + 2)

30. Evaluate :


Watch Video Solution

∫
e2

e

{ − }dx
1

logx

1

(logx)2

https://dl.doubtnut.com/l/_3tlRq8Zc3sRt
https://dl.doubtnut.com/l/_BNXNn4yE1jA9
https://dl.doubtnut.com/l/_VDj7WnwNodEK
https://dl.doubtnut.com/l/_2VDTikmbUSV1


31. If ,find the value of k.

Watch Video Solution

∫
k

0
dx =

1

2 + 8x2

π

16

32. Evaluate:

Watch Video Solution

∫
π

−π

((2x) )dx
1 + sinx

1 + cos2 x

33. Evaluate:


Watch Video Solution

∫
1

− 1
dx

x3 + |x| + 1

x2 + 2|x| + 1

34.  is equal to

Watch Video Solution

∫
1

0

log( − 1)dx
1

x

https://dl.doubtnut.com/l/_N3xKQ8jss2QK
https://dl.doubtnut.com/l/_7wa2lZeTeCdz
https://dl.doubtnut.com/l/_C7d18bUpWSXp
https://dl.doubtnut.com/l/_WnpWwEPiNYT1


35. Evaluate: 

Watch Video Solution

∫
0

dx

π

2 sin2 x

1 + sinx cos x

36. Prove
that: 

Watch Video Solution

∫
π / 2

0

dx =
sinx

sinx − cos x

π

4

37. Prove
that: 

Watch Video Solution

∫
2a

0

f(x)dx = ∫
2a

0

f(2a − x)dx.

38. Evaluate:
 
(ii)


Watch Video Solution

∫
π / 4

−π / 4
x3 sin4

xdx ∫
a

a

√ dx
a − x

a + x

https://dl.doubtnut.com/l/_uzN2keRPBB6V
https://dl.doubtnut.com/l/_MiBjZvS9MF2F
https://dl.doubtnut.com/l/_3XTi2hjbCZx9
https://dl.doubtnut.com/l/_Fc6YLp1iy65d


39. Evaluate:


Watch Video Solution

∫
π / 4

π / 4
dx

x + π/4

2 − cos 2x

40. Evaluate:

Watch Video Solution

∫
π / 2

0
dx

cos x

1 + cos x + sinx

41. Prove
that: 

Watch Video Solution

∫
π

0

dx =
x

1 − cosα sinx

π(π − α)

sinα

42. Evaluate
the following integrals: (1-35)


Watch Video Solution

∫
a

−a

log( )dθ, a > 0
a − sin θ

a + sin θ

https://dl.doubtnut.com/l/_1ROaQ8EJC3MP
https://dl.doubtnut.com/l/_Jhmyws0XtjaL
https://dl.doubtnut.com/l/_n6xmbaWjmh5z
https://dl.doubtnut.com/l/_7fxnCmlPgLFg


43. Evaluate
the following integrals:


Watch Video Solution

∫
1

− 1
|x cos πx|dx

44. Evaluate
the following integrals: (1-35)


Watch Video Solution

∫
π

0

( + cos7 x)dx
x

1 + sin2 x

45. Evaluate : 

Watch Video Solution

∫
π

0
dx

x

1 + sinα sinx

46. Evaluate
the following integrals: (1-35)


Watch Video Solution

∫
π / 2

0
dx

a sinx + b cos x

sinx + cos x

https://dl.doubtnut.com/l/_6hMBK0J4h1AM
https://dl.doubtnut.com/l/_Ce6OybjDeLdz
https://dl.doubtnut.com/l/_tnRFU5KtNwzE
https://dl.doubtnut.com/l/_CjbFsx9zZNgq


47. Evaluate
 the following integrals as limit of sums: 
 (ii)

Watch Video Solution

∫
2

0
(x + 4)dx

∫
2

0
(2x + 1)dx

48. Evaluate 
as a limit of sums.

Watch Video Solution

∫
4

1

(x2 −  x) dx

49. Evaluate:
 
using limit of sum

Watch Video Solution

∫
b

a

sinxdx

50. Mark
 the correct alternative in each of the following:


equals
 
(b) 
(c) 
(d) 

Watch Video Solution

∫
1

0
√x(1 − x)dx π/2 π/4 π/6 π/8

https://dl.doubtnut.com/l/_0EYNlaRoDQMH
https://dl.doubtnut.com/l/_4ehVwAjcZpDr
https://dl.doubtnut.com/l/_nll6prPkPf9f
https://dl.doubtnut.com/l/_IBBpbyTvouFy


51. Evaluate :


Watch Video Solution

∫
π

0

dx
1

1 + sinx

52. If
 
find
the value of integral 

Watch Video Solution

∫
a

0
√xdx = 2a∫

π / 2

0

sin3 xdx ∫
a+ 1

a

xdx.

53. Evaluate:
(i) 
(ii)


Watch Video Solution

∫
4

0
dx

1

√x2 + 2x + 3
∫

a

0
dx

1

√ax − x2

54. If 
find the
value of 

Watch Video Solution

∫
1

0

(3x2 + 2x + k)dx = 0, k.

https://dl.doubtnut.com/l/_rBMfcWfaBntc
https://dl.doubtnut.com/l/_2jWTzUSuJWPF
https://dl.doubtnut.com/l/_mflyPQHnC9rX
https://dl.doubtnut.com/l/_FGLsv9KdmiVf


55. If  then the value of  is

Watch Video Solution

∫
a

1
(3x2 + 2x + 1)dx = 11 a

56. If
 , and If 
find
a and b.

Watch Video Solution

∫
b

a

x3dx = 0 ∫
b

a

x2dx = ,
2

3

57. Evaluate:


Watch Video Solution

∫
π / 2

0
√1 − cos 2xdx.

58. Evaluate:


Watch Video Solution

∫
π / 2

0
sin4 xdx

https://dl.doubtnut.com/l/_bfBPH6T5b3fP
https://dl.doubtnut.com/l/_Jjupsq7OZtag
https://dl.doubtnut.com/l/_ea550TimmyNX
https://dl.doubtnut.com/l/_GpM9TntJHTNN


59. Evaluate:
 
(ii)


Watch Video Solution

∫
π / 4

0
√1 + sin 2xdx ∫

π / 4

0
√1 − sin 2xdx

60. Evaluate:


Watch Video Solution

∫
π / 2

π / 4
√1 − sin 2xdx

61. Evaluate
the following integrals: (1-35)


Watch Video Solution

∫
2

− 2

dx
3x3 + 2|x| + 1

x2 + |x| + 1

62. Evaluate
the following integrals: (1-35)


Watch Video Solution

∫
π

0

x sinx cos2 xdx

https://dl.doubtnut.com/l/_FKIBnjNhzr0I
https://dl.doubtnut.com/l/_bbm7C78fRY3f
https://dl.doubtnut.com/l/_1rrsztCakffz
https://dl.doubtnut.com/l/_CAFZ7zmamz7y


63. Show
that: 

Watch Video Solution

∫
π / 2

0

f(sin 2x)sinxdx = √2∫
π / 4

0

f(cos 2x)cos xdx.

64. For
 
 Find
 the function 


and
show that 

Watch Video Solution

x > 0, letf(x) = ∫
x

1
dt.

(log)et

1 + t

f(x) + f( )
1

x
f(e) + f( ) = .

1

e

1

2

65. Evaluate
the following integrals: (1-35)


Watch Video Solution

∫
π / 2

0

dx
sinn x

sinn + cosn x

66. Prove
that:
 = 

Watch Video Solution

∫
2π

0
dx

x sin2n x

sin2n + cos2n x
π2

https://dl.doubtnut.com/l/_6jZ3W0G3DBSC
https://dl.doubtnut.com/l/_dqPYLOUTom9A
https://dl.doubtnut.com/l/_IsFu1lKZTvbA
https://dl.doubtnut.com/l/_ryD86Ekub3gG
https://dl.doubtnut.com/l/_peouqRE8vzCQ


67. Prove
that:


Watch Video Solution

∫
π / 2

0

log|tanx + cot x|dx = π(log)e2

68. Evaluate:


Watch Video Solution

∫
2

− 2
|x cos πx|dx

69. Evaluate:


Watch Video Solution

∫
π / 2

−π / 2

log(sinx + cos x)dx

70. Evaluate:


Watch Video Solution

∫
π

0
x log sinxdx

71. If , then  is∫
π

0
dx =

1

a + b cos x

π

√a2 − b2
∫

π

0
dx

1

(a + b cos x)
2

https://dl.doubtnut.com/l/_peouqRE8vzCQ
https://dl.doubtnut.com/l/_aTQwhi4Elq78
https://dl.doubtnut.com/l/_rCyaQvivhPLa
https://dl.doubtnut.com/l/_OGWHR51W7KNu
https://dl.doubtnut.com/l/_il4TSGDr1aPB


Watch Video Solution

72. 
(a)
 
(b)
 
(c)
 
(d)


Watch Video Solution

∫
1

0
√ dx =

1 − x

1 + x

π

2
− 1

π

2
+ 1

π

2
π + 1

73. 
 equals
 (a) 
 (b)
 
 (c)


(d)


Watch Video Solution

∫
π / 2

0
dx

cos x

(2 + sinx)(1 + sinx)
log( )

2

3
log( )

3

2

log( )
3

4
log( )

4

3

74. 
(a)
 
(b) 
(c) 
(d) 

Watch Video Solution

∫
π

0

dxis
x tanx

secx + cos x

π2

4
π2

2
3π2

2
π2

3

75. 
is
equal to
 
(b)
 
(c)
 
(d)
dx
∫

21

0

1 + tanx

π □

4

π □

3

π □

2
π

https://dl.doubtnut.com/l/_il4TSGDr1aPB
https://dl.doubtnut.com/l/_z9F2TZSJjflY
https://dl.doubtnut.com/l/_2x01EG6ESLiK
https://dl.doubtnut.com/l/_jvUhcHIU8XYX
https://dl.doubtnut.com/l/_4OteoPzu8wUn


Watch Video Solution

76. 
is
equal to (a)
 
(b)
 
(c)
 
(d)


Watch Video Solution

∫
π / 2

−π / 2

sin|x|dx 1 2 −1 −2

77. The
value of the integral 
 is
 
 (b)
 
 (c)


(d)


Watch Video Solution

∫
∞

0
dx

x

(1 + x)(1 + x2)

π □

2

π □

4

π □

6

π

3

78. 
 =
 
 (b)
 
 (c)


(d)


Watch Video Solution

∫
3

0

dx
3x + 1

x2 + 9
+ log(2√2)

π □

12
+ log(2√2)

π □

2

+ log(2√2)
π □

6
+ log(2√2)

π □

3

https://dl.doubtnut.com/l/_4OteoPzu8wUn
https://dl.doubtnut.com/l/_6fWjP9corBy5
https://dl.doubtnut.com/l/_8YREUbKcnoZt
https://dl.doubtnut.com/l/_DYGiEeZSCWjC


79.  then  is (A) 
 (B) 
 (C) 


(D) 

Watch Video Solution

I10 = ∫
0

x10 sinxdx

π

2

I10 + 90I8 10( )
6π

2
10( )

9π

2

10( )
8π

2
10( )

7π

2

80. The
 derivative of 
 is
 
 (b)


(c)
 
(d)


Watch Video Solution

f(x) = ∫
x3

x2

dt, (x > 0),
1

(log)et

1

3Inx

−
1

3Inx

1

2Inx
(Inx)

− 1
x(x − 1)

3x2

Inx

81. Evaluate:

Watch Video Solution

∫
π / 2

0
dx

cos x
1 + cos x + sinx

82. Evaluate:


Watch Video Solution

∫
π / 2

0
dx

1

3 + 2 cos x

https://dl.doubtnut.com/l/_jWhwqupjXeT0
https://dl.doubtnut.com/l/_U3Y7FNVNm9RZ
https://dl.doubtnut.com/l/_uYKNjeF1mbdM
https://dl.doubtnut.com/l/_FRO8hJv2PNKP


83. Evaluate: 

Watch Video Solution

∫
π / 2

π / 4

cos 2x log sinxdx

84. integrate 

Watch Video Solution

∫
2π

0

sin( + )dx
π

4
x

2

85. Evaluate:
 
(ii) 

Watch Video Solution

∫
2

1
dx

1

(x + 1)(x + 2)
∫

2

1
dx

1

x(1 + x2)

86. Evaluate:(i) 

Watch Video Solution

∫
π / 6

0
(2 + 3x2)dx

https://dl.doubtnut.com/l/_FRO8hJv2PNKP
https://dl.doubtnut.com/l/_HXOAV92W1V1S
https://dl.doubtnut.com/l/_onUVlPvILMig
https://dl.doubtnut.com/l/_KPk95W9fJARv
https://dl.doubtnut.com/l/_ovn3IIYcW4E6


87. Evaluate:
 
(ii) 

Watch Video Solution

∫
4

0
dx

1

x + √x
∫

1

0
dx

2x

5x2 + 1

88. Evaluate
 the following definite integrals (1-58):

Watch Video Solution

∫
2

1

dx
1

√(x − 1)(2 − x)

89. If
 
 is
 of the form 
 show
 that


Watch Video Solution

(x) f(x) = a + bx + cx2,

∫
1

0

f(x)dx = {f(0) + 4f( ) + f(1)}
1

6

1

2

90. Evaluate:


Watch Video Solution

∫
∞

0
dx.

1

(x2 + a2)(x2 + b2)

https://dl.doubtnut.com/l/_iaBfswnnKUjW
https://dl.doubtnut.com/l/_9ERlqbhXYuTv
https://dl.doubtnut.com/l/_mHhoEoy3SNd6
https://dl.doubtnut.com/l/_1TKP0PNiPhGr


91. Evaluate
the following integrals:


Watch Video Solution

∫
π / 6

0
cos − 3 2θ sin 2θdθ

92. Evaluate
the following integrals:


Watch Video Solution

∫
( π ) 2 / 3

0
√x cos2 x3 / 2dx

93. Evaluate
the following integrals:


Watch Video Solution

∫
1

0
dx

24x3

(1 + x2)4

94. Evaluate
the following integrals:


Watch Video Solution

∫
1

0

√ dx
1 − x

1 + x

https://dl.doubtnut.com/l/_1TKP0PNiPhGr
https://dl.doubtnut.com/l/_qyDYnx5ZZswD
https://dl.doubtnut.com/l/_BenolseLh5yR
https://dl.doubtnut.com/l/_zFJC3FCi51Gi
https://dl.doubtnut.com/l/_K5q5QExbCEsV


95. If 
,
prove that 

Watch Video Solution

In = ∫
π / 4

0

tann xdx In + In− 2 = .
1

n − 1

96. If 
 ,
 show that 


 form
 an A.P. Find the common

difference of this progression.

Watch Video Solution

In = ∫
π / 4

0

tann xdx

, , , ,
1

I2 + I4

1

I3 + I5

1

I4 + I6

1

I5 + I7

97. Evaluate:


Watch Video Solution

∫
π / 2

0

dx
1

(a2 cos2 x + b2 sin2 x)
2

98. Find 

Watch Video Solution

if x2 = cos y
dy

dx

https://dl.doubtnut.com/l/_Rb9IueYYZSaP
https://dl.doubtnut.com/l/_uLwcsYlVsFud
https://dl.doubtnut.com/l/_8cQYDvWyxQM9
https://dl.doubtnut.com/l/_PD5Xfg1GhpZM


99. Evaluate:
 
(ii) 

Watch Video Solution

∫
a

0

dx
1

(x2 + a2)
∫

∞

0

dx
x2

(a2 + x2)
5 / 2

100. Evaluate:


Watch Video Solution

∫
1

0
x√ dx

1 − x2

1 + x2

101. Evaluate
the following integrals:


Watch Video Solution

∫(sin) − 1
√ dx

x

a + x

102. Evaluate
the following integrals:


Watch Video Solution

∫
2

1

dx
1

x(1 + logx)2

https://dl.doubtnut.com/l/_PD5Xfg1GhpZM
https://dl.doubtnut.com/l/_Rda6mOOdhpoj
https://dl.doubtnut.com/l/_VYEUTcIXZQ5u
https://dl.doubtnut.com/l/_PWALBh1WGoff
https://dl.doubtnut.com/l/_LIfs1kHIpXRK
https://dl.doubtnut.com/l/_eRE62l5nsEud


103. Evaluate
the following integrals:


Watch Video Solution

∫
π / 4

0
dx

sin2 x cos2 x

(sin3 x + cos3 x)
2

104. Evaluate
the following integrals:


Watch Video Solution

∫
π / 2

0
dx

tanx

1 + m2 tan2 x

105. Evaluate:
 
 (ii) 
 (iii) 
 (iv)


 (v)
 
 (v)


(vi)


Watch Video Solution

∫
1

0
|5x − 3|dx ∫

π

0
|cos x|dx ∫

5

− 5
|x − 2|dx

∫
1

− 1

e |x |dx ∫
2

0

∣∣x
2 + 2x − 3∣∣dx

∫
4

1
(|x − 1| + |x − 2| + |x − 3|)dx ∫

2

− 1

∣∣x
3 − x∣∣dx

106. Evaluate:


(i)∫
1

− 1
f(x)dx, where, f(x) = {1 − 2x, x ≤ 0; 1 + 2x, x ≥ 0},

(ii) ∫
4

− 1

f(x)dx, where, f(x) = {2x + 8, − 1 ≤ x ≤ 2; 6x, 2 ≤ x ≤ 4}

https://dl.doubtnut.com/l/_eRE62l5nsEud
https://dl.doubtnut.com/l/_nKBfjPNW7lM7
https://dl.doubtnut.com/l/_OLBVEZcIspiZ
https://dl.doubtnut.com/l/_g5hQP4Uz8O5o


Watch Video Solution

107.  =

Watch Video Solution

∫
x

1
dx

1

x

108. If
 
find


Watch Video Solution

a > 0, ∫
3a

0

∣∣x
2 − a2∣∣dx.

109. If
 
 denotes
 the greatest integer function, then find the value of

Watch Video Solution

[.]

∫
2

1

[3x]dx

110. Evaluate:


Watch Video Solution

∫
3

0
[x]dx

https://dl.doubtnut.com/l/_g5hQP4Uz8O5o
https://dl.doubtnut.com/l/_rruSAaR9ktwP
https://dl.doubtnut.com/l/_8GgzG4URuEXQ
https://dl.doubtnut.com/l/_5aK70HXi21LE
https://dl.doubtnut.com/l/_uqNUxVEubrMU


Watch Video Solution

111. 
is
equal to
 
(b)
 
(c)
 
(d)


Watch Video Solution

∫
1

0

{sin− 1( )}dx
d

dx

2x

1 + x2
0 π π/2 π/4

112. Evaluate
the following integrals:


Watch Video Solution

∫
a

−a

dx
xex ^ 2

1 + x2

113. Evaluate
the following integrals:


Watch Video Solution

∫
π / 4

0

|cos 2x|dx

114. Evaluate the following integrals:

Watch Video Solution

∫
0

− 5
f(x)dx, wheref(x) = |x| + |x + 2| + |x + 5|

https://dl.doubtnut.com/l/_uqNUxVEubrMU
https://dl.doubtnut.com/l/_rAMhKzMgyO8U
https://dl.doubtnut.com/l/_5iy7jwHYdnBt
https://dl.doubtnut.com/l/_2zeMqYU2jHt4
https://dl.doubtnut.com/l/_NK9IoTZOSupJ


115. Evaluate
 the following definite integrals (1-58):

Watch Video Solution

∫
2

1

dx
1

√(x − 1)(2 − x)

116. Evaluate
the following integrals:


Watch Video Solution

∫
π

0

cos x|cos x|dx

117. Let
 
for
ever real number 
is
the greatest

integer less than or equal to 
Then,
evaluate 
.

Watch Video Solution

f(x) = x − [x], x, where[x]

x. ∫
1

− 1
f(x)dx

118. Evaluate:


Watch Video Solution

∫
√3

0

sin− 1( )dx
1

1 + x2

2x

1 + x2

https://dl.doubtnut.com/l/_NK9IoTZOSupJ
https://dl.doubtnut.com/l/_sJCqcBdFiNVY
https://dl.doubtnut.com/l/_toIJ2iwAGlUe
https://dl.doubtnut.com/l/_jQKa4jyO9vuU
https://dl.doubtnut.com/l/_rBO4cv38RZVR


119. Evaluate
 the following integrals:

 

Watch Video Solution

∫
9

0

f(x)dx, wheref(x) = {sinx, 0 ≤ x ≤ π/2 1, ≤ x ≤ 3
π

2

ex− 3, 3 ≤ x ≤ 9

120. Evaluate
the following integrals:


Watch Video Solution

∫
2

0

∣∣x
2 − 3x + 2∣∣dx

121. Evaluate
the following integrals:


Watch Video Solution

∫
1

0

√ dx
1 − x

1 + x

122. Prove
that: 

W t h Vid S l ti

∫
b

a

dx =
f(x)

f(x) + f(a + b − x)

b − a

2

https://dl.doubtnut.com/l/_rBO4cv38RZVR
https://dl.doubtnut.com/l/_JPXRdPZWGyGI
https://dl.doubtnut.com/l/_XWsSKFYm1Djj
https://dl.doubtnut.com/l/_eyPcjF0hHZKa
https://dl.doubtnut.com/l/_tsw06jAapcQl


Watch Video Solution

123. Evaluate
 of each of the following integrals (1-15):

Watch Video Solution

∫
5

0

3√x + 4dx
3√x + 4 + 3√9 − x

124. Evaluate
 of each of the following integrals (1-15):

Watch Video Solution

∫
π / 4

−π / 4

dx
x11 − 3x9 + 5x7 − x5 + 1

cos2 x

125. Evaluate
 of each of the following integrals (1-15):

Watch Video Solution

∫
a

−a

dx, a > 0
1

1 + ax

https://dl.doubtnut.com/l/_tsw06jAapcQl
https://dl.doubtnut.com/l/_foJmcbkYkSPW
https://dl.doubtnut.com/l/_HpuWMZB64sNI
https://dl.doubtnut.com/l/_Ql1DtwRFZhdR


126. Evalaute 

Watch Video Solution

∫
π / 3

π / 6

√(sinx)dx

√(sinx) + √(cos x)

127. Evaluate
 of each of the following integrals (1-15):

Watch Video Solution

∫
2π

0

log(secx + tanx)dx

128. Evaluate:


Watch Video Solution

∫
π / 4

−π / 4
dx

sec2 x

1 + ex

129. Evaluate:


Watch Video Solution

∫
π / 4

−π / 4

dx
sec2 x

1 + ex

https://dl.doubtnut.com/l/_CTjT6ApZIYNQ
https://dl.doubtnut.com/l/_1z3pnFUZzG0i
https://dl.doubtnut.com/l/_R9iioiPpklc1
https://dl.doubtnut.com/l/_WcCLzgjUc3jU
https://dl.doubtnut.com/l/_Kj6H4fNJEfNs


130. Evaluate:


Watch Video Solution

∫
π / 2

−π / 2

dx
x sinx

ex + 1

131. If
 
 then
 prove that 

Watch Video Solution

f(a + b − x) = f(x),

∫
b

a

xf(x)dx = ∫
b

a

f(x)dx.
a + b

2

132. Evaluate
 of each of the following integrals (1-15):

Watch Video Solution

∫
7

0

⎛

⎝

⎞

⎠
dx

x
1
3

x + (7 − x)
1
3

1
3

133. Evaluate: 

Watch Video Solution

∫
2

1
x2dx

https://dl.doubtnut.com/l/_Kj6H4fNJEfNs
https://dl.doubtnut.com/l/_FfqH8csaZCtU
https://dl.doubtnut.com/l/_6GQJrKRf1EWG
https://dl.doubtnut.com/l/_Wb9RNp4P6gQe


134. Evaluate: 

Watch Video Solution

∫
1

4
dx

1

x

135. Evaluate: 

Watch Video Solution

∫
1

0
dx

1

√1 + x + √x

136. Evaluate: 

Watch Video Solution

∫
1

0
dx

1

2x − 3

137. Evaluate: 

Watch Video Solution

∫
π / 4

0
tan2 xdx

https://dl.doubtnut.com/l/_Wb9RNp4P6gQe
https://dl.doubtnut.com/l/_Y3xrqeqSp91i
https://dl.doubtnut.com/l/_H2mdNvdNlkUx
https://dl.doubtnut.com/l/_q5CQwK4CkmGe
https://dl.doubtnut.com/l/_cH2EBXFAv2Df


138. Evaluate 

Watch Video Solution

∫
0

sin2 xdx

π

2

139. Evaluate: 

Watch Video Solution

∫
π / 4

0

sin 3x sin 2x dx

140. Evaluate: 

Watch Video Solution

∫
1 / 2

1 / 4
dx

1

√x − x2

141. Evaluate: 

Watch Video Solution

∫
4

2
dx

x

x2 + 1

https://dl.doubtnut.com/l/_JwIAzMCEecwr
https://dl.doubtnut.com/l/_sKpPcs1W9BYd
https://dl.doubtnut.com/l/_QCBgBX3fzZHB
https://dl.doubtnut.com/l/_ARk4FGusSw5B


142. Evaluate: 

Watch Video Solution

∫
1

0
dx

2x

5x2 + 1

143. Evaluate: 

Watch Video Solution

∫
2

0
dx

5x + 1

x2 + 4

144. Evaluate: 

Watch Video Solution

∫
1

0

x exdx

145. Evaluate: 

Watch Video Solution

∫
2

1

dx
logx

x2

https://dl.doubtnut.com/l/_hNo0pTgO5XwB
https://dl.doubtnut.com/l/_fFAEdp0RZPDE
https://dl.doubtnut.com/l/_3KKGzTPIJYiy
https://dl.doubtnut.com/l/_GfreVjLZ0uWa


146. Evaluate: 

Watch Video Solution

∫
π / 2

0

cos x dx

147. Evaluate: 

Watch Video Solution

∫
2

1
dx

logx

x

148. Evaluate: 

Watch Video Solution

∫
π / 2

0
sinx dx

149. Evaluate the definite
integrals


Watch Video Solution

∫
1

0
(xex + )dx

sin(πx)

4

https://dl.doubtnut.com/l/_VMiguaDgnpw7
https://dl.doubtnut.com/l/_8LCkgtKx5wZc
https://dl.doubtnut.com/l/_GPJ1onb2KhHG
https://dl.doubtnut.com/l/_uXUvxjmsOocn


150. Evaluate :

Watch Video Solution

∫
2

1
dx

5x2

x2 + 4x + 3

151. Evaluate: 

Watch Video Solution

∫
3

1

dx
1

x2(x + 1)

152. Evaluate: 

Watch Video Solution

∫
3

1
dx

1

x2(x + 1)

153. Evaluate :


Watch Video Solution

∫
9

4
dx

1

√x

https://dl.doubtnut.com/l/_YHWwRSyth085
https://dl.doubtnut.com/l/_mpEuRjkdWhb1
https://dl.doubtnut.com/l/_DWgvBdRFbukn
https://dl.doubtnut.com/l/_Eezgf5XuIGij


154. Evaluate the following definite integral: 

Watch Video Solution

∫
3

2
dx

1

x + 7

155. Evaluate the following definite integral: 

Watch Video Solution

∫
1 / 2

0
dx

1

√1 − x2

156. Evaluate the following definite integral: 

Watch Video Solution

∫
1

0

dx
1

1 + x2

157. Evaluate the following definite integral: 

Watch Video Solution

∫
3

2
dx

x

x2 + 1

https://dl.doubtnut.com/l/_uowDvgO9z1c7
https://dl.doubtnut.com/l/_lVTI0qJUl5sQ
https://dl.doubtnut.com/l/_Xi9BsyAS3IFl
https://dl.doubtnut.com/l/_AZ77cqvaAa93


158. Evaluate :


Watch Video Solution

∫
∞

0
dx

1

a2 + b2x2

159. Evaluate the following definite integral: 

Watch Video Solution

∫
1

− 1

dx
1

1 + x2

160. Evaluate the following definite integrals: 

Watch Video Solution

∫
∞

0
e−xdx

161. Evaluate the following definite integral: 

Watch Video Solution

∫
1

0

dx
x

x + 1

https://dl.doubtnut.com/l/_ap0XWsMSIS9k
https://dl.doubtnut.com/l/_5CmZatEUHsUf
https://dl.doubtnut.com/l/_h4SmfEL8r89V
https://dl.doubtnut.com/l/_OpgZMvrVhGVc


162. Evaluate the following definite integral: 

Watch Video Solution

∫
π / 2

0

(sinx + cos x)dx

163. Evaluate the following definite integral: 

Watch Video Solution

∫
π / 2

π / 4
cot x dx

164. Evaluate the following definite integral: 

Watch Video Solution

∫
π / 4

0
sec x dx

165. Evaluate the following definite integral: 

Watch Video Solution

∫
π / 4

π / 6
cos ec x dx

https://dl.doubtnut.com/l/_PkQVWOt1vfGm
https://dl.doubtnut.com/l/_jwY50sncy854
https://dl.doubtnut.com/l/_4MusqbVzzq3P
https://dl.doubtnut.com/l/_z2qdLSy7vo4x


166. Evaluate :


Watch Video Solution

∫
π

0

dx
1

1 + sinx

167. Evaluate the definite
integrals


Watch Video Solution

∫
0

cos2 xdx

π

2

168. Evaluate the following definite integral: 

Watch Video Solution

∫
π / 6

0
cos x cos 2x dx

169. Evaluate :


Watch Video Solution

∫ (tanx + cot x)
2
dx

π

4

π

3

https://dl.doubtnut.com/l/_r8WhRRAi8PQA
https://dl.doubtnut.com/l/_9xXJpGTBRPdv
https://dl.doubtnut.com/l/_vNQe7PkyBCRH
https://dl.doubtnut.com/l/_vqlOoiJZAsQb


170. Evaluate the following definite integral 

Watch Video Solution

∫
0

cos4 xdx

π

2

171. Evaluate the following definite integral:

Watch Video Solution

∫
π / 2

0

(a2 cos2 x + b2 sin2  x)dx

172. Evaluate the following definite integral: 

Watch Video Solution

∫
π / 2

0
√1 + cos x dx

173. Evaluate the following definite integral: 

Watch Video Solution

∫
1

0
dx

1 − x

1 + x

https://dl.doubtnut.com/l/_wwJzAPpxHZC8
https://dl.doubtnut.com/l/_rkaZ10d5JYUo
https://dl.doubtnut.com/l/_HuO7Dh8q1XAX
https://dl.doubtnut.com/l/_JJ1UA3XX0Teh
https://dl.doubtnut.com/l/_Fwer8E4fNwMm


174. Evaluate the following definite integral: 

Watch Video Solution

∫
π / 4

−π / 4

dx
1

1 + sinx

175. Evaluate the following definite integral: 

Watch Video Solution

∫
π / 2

0

cos3 x dx

176. Evaluate the following definite integral 

Watch Video Solution

∫
0

cos4 xdx

π

2

177. Evaluate the following definite integral: 

Watch Video Solution

∫
π / 2

0

x2 sinx dx

178. Evaluate the following definite integral: ∫
π / 2

0

x cos x dx

https://dl.doubtnut.com/l/_Fwer8E4fNwMm
https://dl.doubtnut.com/l/_Mrmtw6APmPl5
https://dl.doubtnut.com/l/_rfNCyfr4AAaR
https://dl.doubtnut.com/l/_Fin0Gyci5Hdt
https://dl.doubtnut.com/l/_NJamxARrvGD2


Watch Video Solution

179. Evaluate the following definite integral: 

Watch Video Solution

∫
π / 4

0

x2 sinx dx

180. Evaluate the following definite integral: 

Watch Video Solution

∫
π / 2

0

x2 cos2 x dx

181. Evaluate the following definite integral: 

Watch Video Solution

∫
3

1
dx

logx

(x + 1)
2

182. Evaluate the following definite integral: 

Watch Video Solution

∫
e

1
dx

logx

x

https://dl.doubtnut.com/l/_NJamxARrvGD2
https://dl.doubtnut.com/l/_TrhH0csB0T1D
https://dl.doubtnut.com/l/_wfcM549FPXHb
https://dl.doubtnut.com/l/_V3TXFdZp83nL
https://dl.doubtnut.com/l/_iwhblwMS15Kb


183. Evaluate the following definite integral: 

Watch Video Solution

∫
2

1

dx
x + 3

x(x + 2)

184. Evaluate the following definite integral: 

Watch Video Solution

∫
2

0
dx

1

4 + x − x2

185. Evaluate the following definite integral: 

Watch Video Solution

∫
1

0
√x(1 − x)dx

186. Evaluate the following definite integral: 

Watch Video Solution

∫
4

0

dx
1

√4x − x2

https://dl.doubtnut.com/l/_iwhblwMS15Kb
https://dl.doubtnut.com/l/_rzs5Xo0nXRQG
https://dl.doubtnut.com/l/_AralCVJf725X
https://dl.doubtnut.com/l/_Sq3jc6CZoTvS
https://dl.doubtnut.com/l/_AUygMyJWlhsR


187. Evaluate the following definite integral: 

Watch Video Solution

∫
4

1
dx

x2 + x

√2x + 1

188. Evaluate the following definite integral: 

Watch Video Solution

∫
2

1

( )exdx
x − 1

x2

189. Evaluate the following definite integral: 

Watch Video Solution

∫
1

0

(xex + )dx
cos(πx)

4

190. Evaluate the following definite integral: 

Watch Video Solution

∫
2π

0
ex / 2 sin( + )dx

x

2
π

4

https://dl.doubtnut.com/l/_fO7OLqFUeTg6
https://dl.doubtnut.com/l/_OSwoPsbINRCm
https://dl.doubtnut.com/l/_JLWsCAjadPyK
https://dl.doubtnut.com/l/_ZusWlsjO9Rdh


191. Evaluate the definite
integrals


Watch Video Solution

∫
1

0

dx

√1 + x − √x

192. Evaluate the following definite integral: 

Watch Video Solution

∫
2

1
e2x( − )dx

1

x

1

2x2

193. Evaluate the following definite integral: 

Watch Video Solution

∫
π / 2

0

cos x2 dx

194. Evaluate the following definite integral: 

Watch Video Solution

∫
π / 2

0

x2 cos 2x dx

https://dl.doubtnut.com/l/_cHNNfsRu95QB
https://dl.doubtnut.com/l/_Bk4Z1tNn3apL
https://dl.doubtnut.com/l/_EeaN36KE6IG9
https://dl.doubtnut.com/l/_dbJB7TziPvEY


195. Evaluate the following definite integral: 

Watch Video Solution

∫
2

1
logx dx

196. Evaluate the following definite integral: 

Watch Video Solution

∫
e

1

(1 + x logx)dx
ex

x

197. Evaluate :


Watch Video Solution

∫
e2

e

{ − }dx
1

logx

1

(logx)2

198. Evaluate the definite
integrals


Watch Video Solution

∫
1

0

dx
2x + 3

5x2 + 1

https://dl.doubtnut.com/l/_vBcTUsn8JZpt
https://dl.doubtnut.com/l/_LVUyXhQvNKWV
https://dl.doubtnut.com/l/_uLjM35F3ickd
https://dl.doubtnut.com/l/_el3FjNlhTaIX


199. Evaluate the following definite integral: 

Watch Video Solution

∫
1

0
dx

1

2x2 + x + 1

200. Evaluate the following definite integral: 

Watch Video Solution

∫
2

0
dx

1

√3 + 2x − x2

201. Evaluate :


Watch Video Solution

∫
1

0

x(1 − x)5
dx

202. Evaluate the following definite integral: 

Watch Video Solution

∫
1

0
(xe2x + sinπ )dx

x

2

https://dl.doubtnut.com/l/_6ZGaNbBSNoIy
https://dl.doubtnut.com/l/_JQWfjJY4N9gD
https://dl.doubtnut.com/l/_9Tdf8Wwb0qaL
https://dl.doubtnut.com/l/_RS5o7grRDX44


203. Evaluate the following definite integral: 

Watch Video Solution

∫
π

π / 2

ex( )dx
1 + sinx

1 + cos x

204. Evaluate :


Watch Video Solution

∫
2π

0
ex cos( + )dx

π

4
x

2

205. Evaluate the following definite integral: 

Watch Video Solution

∫
π

0

( − )dx
sin2 x

2
cos2 x

2

206. If 
find the value of 

Watch Video Solution

∫
a

0
3x2dx = 8, a.

https://dl.doubtnut.com/l/_w2mF6QC1HYPn
https://dl.doubtnut.com/l/_Q5cZdceTBUAo
https://dl.doubtnut.com/l/_mdwgSVeUtutg
https://dl.doubtnut.com/l/_We3MuQGoGU1Q


207. Evaluate the following integral : 

Watch Video Solution

∫
3π / 2

π

√1 − cos 2x dx

208. Evaluate the following integral : 

Watch Video Solution

∫
2π

0
√1 + sin( )dx

x

2

209. Evaluate :


Watch Video Solution

∫
0

(tanx + cot x)
− 2

dx

π

4

210. Evaluate the following integral : 

Watch Video Solution

∫
π / 3

π / 6

(tanx + cot x)2
dx

https://dl.doubtnut.com/l/_Kba6SsRNSNFf
https://dl.doubtnut.com/l/_0DVGjt5M300J
https://dl.doubtnut.com/l/_yKmd8ReNjpzr
https://dl.doubtnut.com/l/_srshIbvEog5z


211. Evaluate :


Watch Video Solution

∫
1

0
dx

1

1 + 2x + 2x2 + 2x3 + x4

212. Evaluate :


Watch Video Solution

∫
1

0
x log(1 + 2x)dx

213. Evaluate:


Watch Video Solution

∫
π / 2

0
dx

1

(a2 cos2 x + b2 sin2 x)
2

214. Evaluate: 

Watch Video Solution

∫
1

0
sin− 1 x dx

https://dl.doubtnut.com/l/_nGvRbWPk3Num
https://dl.doubtnut.com/l/_TzakL4ds57TE
https://dl.doubtnut.com/l/_XK2SCh0D0kei
https://dl.doubtnut.com/l/_Y9IoqHTHdJ1h


215. Evaluate: d

Watch Video Solution

∫
π / 2

0

√cos θ sin3 θ θ

216. Evaluate: 

Watch Video Solution

∫
π / 2

0

dx
1

cos3 x√2 sin 2x

217. Evaluate:  d

Watch Video Solution

∫
π / 2

0

cos θ

(1 + sin θ)(2 + sin θ)
θ

218. Evaluate the following integral: 

Watch Video Solution

∫
1 / 2

0
dx

1

√1 − x2

https://dl.doubtnut.com/l/_EzhHKGsdS2Kx
https://dl.doubtnut.com/l/_i3Mp8woAHTps
https://dl.doubtnut.com/l/_jyYAHszoDLhn
https://dl.doubtnut.com/l/_ioEbnXpBLTRq


219. Evaluate: 

Watch Video Solution

∫
a

0
dx

x4

√a2 − x2

220. Evaluate:


Watch Video Solution

∫
0

dx

1

√2 sin− 1 x

(1 − x2)√1 − x2

221. Evaluate: 

Watch Video Solution

∫
π / 4

0

tan2 x dx

222. Evaluate the following integral: 

Watch Video Solution

∫
π / 2

0

dx
1

2 cos x + 4 sinx

https://dl.doubtnut.com/l/_MP5ez5hoEZDU
https://dl.doubtnut.com/l/_GTeeg7x7Jxlz
https://dl.doubtnut.com/l/_034nbFleikIS
https://dl.doubtnut.com/l/_uHq5er5FhWxC


223. Evaluate: 

Watch Video Solution

∫
π / 2

0

dx
sinx

1 + cos2 x

224. Evaluate: 

Watch Video Solution

∫
π / 2

0

dx
1

4 sin2 x + 5 cos2 x

225. Evaluate: 

Watch Video Solution

∫
π / 2

0
dx

x sinx cos x

sin4 x + cos4 x

226. Evaluate: 

Watch Video Solution

∫
π / 4

0
dx

sin 2x

cos4 x + sin4 x

https://dl.doubtnut.com/l/_cy9AgSO0Og4i
https://dl.doubtnut.com/l/_GlWo6LbAvimq
https://dl.doubtnut.com/l/_djZhxUwtInGA
https://dl.doubtnut.com/l/_F2TKVCMXx6Wv


227. Evaluate: 

Watch Video Solution

∫
π / 2

0

dx
cos2 x

cos2 x + 4 sin2 x

228. Evaluate the following integral: 

Watch Video Solution

∫
4

2
dx

x

x2 + 1

229. Evaluate the following integral: 

Watch Video Solution

∫
2

1
dx

1

x(1 + logx)
2

230. Evaluate the following integral: 

Watch Video Solution

∫
2

1
dx

3x

9x2 − 1

https://dl.doubtnut.com/l/_veDixYxuTgCs
https://dl.doubtnut.com/l/_wO2RExuoAkaR
https://dl.doubtnut.com/l/_WKmok91bdaGi
https://dl.doubtnut.com/l/_QA7NJeLcVu80


231. Evaluate the following integral: 

Watch Video Solution

∫
a

0
dx

x

√a2 + x2

232. Evaluate the following integral: 

Watch Video Solution

∫
1

0

xex ^ 2dx

233. Evaluate the following integral: 

Watch Video Solution

∫
1

0

dx
2x

1 + x4

234. Evaluate the following integral: 

Watch Video Solution

∫
2

1
dx

1

x(1 + logx)2

https://dl.doubtnut.com/l/_49xm92QcEiyf
https://dl.doubtnut.com/l/_z5nNgqigZMb8
https://dl.doubtnut.com/l/_UnpNnFkWFH45
https://dl.doubtnut.com/l/_6Rv5obK2NCTD


235. Evaluate the following integral: 

Watch Video Solution

∫
π / 2

0

dx
1

5 cos x + 3 sinx

236. Evaluate the following integral: 

Watch Video Solution

∫
1

0
dx

ex

1 + e2x

237. Evaluate the following integral: 

Watch Video Solution

∫
3

1

dx
cos(logx)

x

238. Evaluate the following integral: 

Watch Video Solution

∫
a

0

√a2 − x2dx

https://dl.doubtnut.com/l/_9o884vkEvLuL
https://dl.doubtnut.com/l/_RRPTt03lyro6
https://dl.doubtnut.com/l/_iudEjwuyi8i2
https://dl.doubtnut.com/l/_ktFmcKOZPviJ


239. Evaluate the following integral: 

Watch Video Solution

∫
π / 2

0
√sinφ cos5 φdφ

240. Evaluate the following integral: 

Watch Video Solution

∫
π / 2

0

dθ
sin θ

√1 + cos θ

241. Evaluate the following integral: 

Watch Video Solution

∫
1

0

dx
√tan− 1 x

1 + x2

242. Evaluate the following integral: 

Watch Video Solution

∫
1

0
tan− 1 ( )dx

2x

1 − x2

https://dl.doubtnut.com/l/_VPx4hfDPmOos
https://dl.doubtnut.com/l/_vp6OG13yky1r
https://dl.doubtnut.com/l/_1VhMBZzlsKQq
https://dl.doubtnut.com/l/_ywEfaSPxlhtU


243. Evaluate the following integral: 

Watch Video Solution

∫
π / 2

0

a,  b > 0
dx

a cos x + b sinx

244. Evaluate the following integral: 

Watch Video Solution

∫
π

0

dx
sinx

sinx + cos x

245. Evaluate the following integral: 

Watch Video Solution

∫
1

0
tan− 1 x dx

246. Evaluate the following integral: 

Watch Video Solution

∫
π / 4

0
(√tanx + √cot x)dx

https://dl.doubtnut.com/l/_22iC17dvub09
https://dl.doubtnut.com/l/_kBpXqiSlthg3
https://dl.doubtnut.com/l/_OgFBjfyLw4ko
https://dl.doubtnut.com/l/_sDDTiaCPKuuv


247. Evaluate the following integral: 

Watch Video Solution

∫
π

0

dx
1

5 + 3 cos x

248. Evaluate the following integral: 

Watch Video Solution

∫
π / 2

0

dx
x + sinx

1 + cos x

249. Evaluate the following integral: 

Watch Video Solution

∫
π / 4

0

dx
sinx + cos x

3 + sin 2x

250. Evaluate the following integral: 

Watch Video Solution

∫
1

0
dx

1 − x2

x4 + x2 + 1

https://dl.doubtnut.com/l/_d1bDPJR3cByf
https://dl.doubtnut.com/l/_BCLxR2WNUFno
https://dl.doubtnut.com/l/_DybmZG9jVZGB
https://dl.doubtnut.com/l/_ng0UzjxAi3s5


251. Evaluate the following integral: 

Watch Video Solution

∫
12

4
x(x − 4)

1 / 3
dx

252. Evaluate the following integral: 

Watch Video Solution

∫
1

− 1

5x4√x5 + 1dx

253. Evaluate the following integral: 

Watch Video Solution

∫
π / 4

0
sin3 2t cos 2t dt

254. Evaluate the following integral: 

Watch Video Solution

∫
π / 2

0
dx

cos x

1 + sin2 x

https://dl.doubtnut.com/l/_V4f5x0flUSgV
https://dl.doubtnut.com/l/_9bVXYUgzwqzA
https://dl.doubtnut.com/l/_bO5068KKXfrB
https://dl.doubtnut.com/l/_4WCZT5YYAa03


255. Evaluate the following integral: 

Watch Video Solution

∫
π / 3

0

dx
cos x

3 + 4 sinx

256. Evaluate the following integral: 

Watch Video Solution

∫
2

0
x √x + 2 dx

257. Evaluate the following integral: 

Watch Video Solution

∫
π / 2

0
dx

sinx cos x

1 + sin4 x

258. Evaluate the following integral: 

Watch Video Solution

∫
π

0

dx
1

5 + 4 sinx

https://dl.doubtnut.com/l/_dybTcN9p9mLJ
https://dl.doubtnut.com/l/_rOv23k0WukPK
https://dl.doubtnut.com/l/_tAGnCtzp9j2E
https://dl.doubtnut.com/l/_dHp9h0uP8lbI


259. Evaluate the following integral: 

Watch Video Solution

∫
π

0

dx
1

3 + 2 sinx + cos x

260. Evaluate:


Watch Video Solution

∫
0

dx

1
2 x sin− 1

x

√1 − x2

261. Evaluate the following integral: 

Watch Video Solution

∫
π / 4

0
dx

tan3 x

1 + cos 2x

262. Evaluate the following integral: 

Watch Video Solution

∫
π / 2

0
dx

1

a2 sin2 x + b2 cos2 x

https://dl.doubtnut.com/l/_Oii9vIRcrrvk
https://dl.doubtnut.com/l/_QsXP4OmuzNHE
https://dl.doubtnut.com/l/_ZhU6VQX8FHVa
https://dl.doubtnut.com/l/_IVQRE4bspynm


263. Evaluate the following integral: 

Watch Video Solution

∫
1

0
dx

tan− 1 x

1 + x2

264. Evaluate the following integral: 

Watch Video Solution

∫
1

0
xtan− 1x dx

265. Evaluate the following integral: 

Watch Video Solution

∫
π / 2

0
sin2 x dx

266. Evaluate the following integral: 

Watch Video Solution

∫
1

0

dx
1 − x2

(1 + x2)
2

https://dl.doubtnut.com/l/_bJsiMVIBgscr
https://dl.doubtnut.com/l/_iVOOl9PZ0zqz
https://dl.doubtnut.com/l/_yXro8xnkrHgV
https://dl.doubtnut.com/l/_romQsmJOCGRK


267. Evaluate the following integral: 

Watch Video Solution

∫
π / 2

0

dx
cos2 x

1 + 3 sin2 x

268. Evaluate the following integral: 

Watch Video Solution

∫
π

0

5(5 − 4 cos θ)1 / 4 sin θdθ

269. Evaluate the following integral: 

Watch Video Solution

∫
9

4

dx
√x

(30 − x )
23

2

270. Evaluate the following integral: 

Watch Video Solution

∫
π / 2

0

2 sinx cos x tan− 1(sinx)dx

https://dl.doubtnut.com/l/_802X7q5vI6Dq
https://dl.doubtnut.com/l/_IbUljfThAppn
https://dl.doubtnut.com/l/_OZ74W9xQjvtj
https://dl.doubtnut.com/l/_1zLkypcWDEnO


271. Evaluate the following integral: 

Watch Video Solution

∫
π / 2

0

dx
sinx cos x

cos2 x + 3 cos x + 2

272. Evaluate the following integral: 

Watch Video Solution

∫
1 / 2

0

dx
1

(1 + x2)√1 − x2

273. Evaluate the following integral: 

Watch Video Solution

∫
1

0
(cos − 1 x)

2
dx

274. Evaluate the following integral: 

Watch Video Solution

∫
π / 2

π / 3

dx
√1 + cos x

(1 − cos x)3 / 2

https://dl.doubtnut.com/l/_ebA1kjoOGUU0
https://dl.doubtnut.com/l/_35CoG1VMsYqp
https://dl.doubtnut.com/l/_3ftNT3vjZJkM
https://dl.doubtnut.com/l/_8mL3Gg6alPY4


275. Evaluate the following integral: 

Watch Video Solution

∫
a

−a

√ dx
a − x

a + x

276. Evaluate the following integral: 

Watch Video Solution

∫
1

1 / 3
dx

(x − x3)
1 / 3

x4

277. Evaluate:


Watch Video Solution

∫
π / 4

−π / 4
dx

sec2 x

1 + ex

278. Evaluate the following integral:







W h Vid S l i

∫
9

0

f(x)dx,  where f(x) = sinx,  0 ≤ x ≤ π/2

where f(x) = 1, ≤ x ≤ 3
π

2

where f(x) = ex− 3,  3 ≤ x ≤ 9

https://dl.doubtnut.com/l/_h9Iel8pJ4AY9
https://dl.doubtnut.com/l/_fVDMdZTNphtO
https://dl.doubtnut.com/l/_4nZVOv3rYqCy
https://dl.doubtnut.com/l/_m7aawWId91IH


Watch Video Solution

279. Evaluate the following integral:

 ,

Watch Video Solution

∫
4

2
f(x)dx,  wheref(x) = {7x + 3,   if  1 ≤ x ≤ 3

wheref(x) = 8x  if  3 ≤ x ≤ 4

280. Evaluate the following integral:


Watch Video Solution

∫
4

− 4
|x + 2|dx

281. Evaluate the following integral:


Watch Video Solution

∫
1

− 1

|2x + 1|dx

282. Evaluate the following integral:
∫
6

− 6

|x + 2|dx

https://dl.doubtnut.com/l/_m7aawWId91IH
https://dl.doubtnut.com/l/_c7lObycdhv9l
https://dl.doubtnut.com/l/_C1UCvcFBXFBZ
https://dl.doubtnut.com/l/_Sp43OuKH93JY
https://dl.doubtnut.com/l/_SkDpqqu5rAhy


Watch Video Solution

283. Evaluate the following integral:


Watch Video Solution

∫
2

1
|x − 3|dx

284. Evaluate the following integral: 

Watch Video Solution

∫
2π

0
|sinx|dx

285. Evaluate the following integral: 

Watch Video Solution

∫
8

2

|x − 5|dx

286. Evaluate the following integral: 

Watch Video Solution

∫
4

0
|x − 1|dx

https://dl.doubtnut.com/l/_SkDpqqu5rAhy
https://dl.doubtnut.com/l/_paZi7cq6tVN5
https://dl.doubtnut.com/l/_qmqSlVLjaqBy
https://dl.doubtnut.com/l/_5S6DppZSpVrq
https://dl.doubtnut.com/l/_nvlnz6UO18Wk


287. Evaluate the following integral: 

Watch Video Solution

∫
4

0
(|x| + |x − 2| + |x − 4|)dx

288. Evaluate the following integral: 

Watch Video Solution

∫
2

− 2

e |x |dx

289. Evaluate the following integral: 

Watch Video Solution

∫
π

−π / 2

sin− 1(sinx)dx

290. Evaluate the following integral: 

Watch Video Solution

∫
3

− 3
|x + 1|dx

https://dl.doubtnut.com/l/_iGqLYKxVHi8W
https://dl.doubtnut.com/l/_yx2ZV13wGpT8
https://dl.doubtnut.com/l/_w5oGQgYUWY7F
https://dl.doubtnut.com/l/_Odyuf2IjOOeA


291. Evaluate the following integral: 

Watch Video Solution

∫
2

− 1
|2x + 3|dx

292. Evaluate the following integral: 

Watch Video Solution

∫
3

0

|3x − 1|dx

293. Evaluate the following integral: 

Watch Video Solution

∫
2

− 2
|x + 1|dx

294. Evaluate the following integral: 

Watch Video Solution

∫
π / 4

−π / 4
|sinx|dx

https://dl.doubtnut.com/l/_xwNXD5b9Vypi
https://dl.doubtnut.com/l/_e3381GcoLBlW
https://dl.doubtnut.com/l/_Mo1PICmdUGaV
https://dl.doubtnut.com/l/_yMyXUS0J4XCF


295. Evaluate the following integral: 

Watch Video Solution

∫
π / 2

−π / 2
(sin|x| + cos|x|)dx

296. Evaluate the following integral: 

Watch Video Solution

∫
4

1
{|x − 1| + |x − 2| + |x − 4|}dx

297. Evaluate the following integral: 

Watch Video Solution

∫
π / 2

−π / 4

sinxdx

298. Evaluate the following integral: 

Watch Video Solution

∫
π / 2

−π / 2
(2 sin|x| + cos x)dx

https://dl.doubtnut.com/l/_0gPEAEuYa5cX
https://dl.doubtnut.com/l/_TvYXMGwkO9Va
https://dl.doubtnut.com/l/_sN9CqaZWzopE
https://dl.doubtnut.com/l/_RKDzcu3VSi2a


299. Evaluate of each of the following integral: 

Watch Video Solution

∫
2π

0

dx
esin x

esin x + e− sin x

300. Evaluate of each of the following integral: 

Watch Video Solution

∫
π / 4

−π / 4
(tan2 x)dx

301. Evaluate of each of the following integral: 

Watch Video Solution

∫
π / 3

−π / 3
dx

1

1 + ex

302. Evaluate of each of the following integral:

Watch Video Solution

∫
π / 2

0
(2 log cos x − log sin 2x)dx

https://dl.doubtnut.com/l/_E9bjUj5uiBhI
https://dl.doubtnut.com/l/_4v01J7CLXWK4
https://dl.doubtnut.com/l/_VlKRACfi7RB6
https://dl.doubtnut.com/l/_Mwdhr16EB92S
https://dl.doubtnut.com/l/_rVYPi6AkBfrr


303. Evaluate of each of the following integral: 

Watch Video Solution

∫
π / 3

π / 6

dx
1

1 + √tanx

304. Evaluate of each of the following integral: 

Watch Video Solution

∫
π / 2

−π / 2

dx
cos2 x

1 + ex

305. Evaluate of each of the following integral:

Watch Video Solution

∫
b

a

dx,  n ≥ 2
x1 /n

x1 /n + (a + b − x)
1
n

306. Evaluate of each of the following integral: 

Watch Video Solution

∫
a

0

dx
√x

√x + √a − x

https://dl.doubtnut.com/l/_rVYPi6AkBfrr
https://dl.doubtnut.com/l/_Bnq4GnNIcdVc
https://dl.doubtnut.com/l/_dneaQz8477A6
https://dl.doubtnut.com/l/_6IMn0D95ot0g
https://dl.doubtnut.com/l/_CkRJH1NyXlD2


307. If 
 then prove that

Watch Video Solution

f(a + b − x) = f(x),

 ∫
b

a

xf(x)dx = ∫
b

a

f(x)dx
a + b

2

308. Evaluate: 

Watch Video Solution

∫
π / 2

0

dx
√sinx

√sinx + √cos x

309. Evaluate: 

Watch Video Solution

∫
π / 2

0

log tanx dx

310. Evaluate: 

Watch Video Solution

∫
π / 4

0

log(1 + t a n x)dx

https://dl.doubtnut.com/l/_CkRJH1NyXlD2
https://dl.doubtnut.com/l/_8t87lmJQdVsq
https://dl.doubtnut.com/l/_ltFbWjc8whJs
https://dl.doubtnut.com/l/_4kZ5lvcHyW5D


311. Evaluate: 

Watch Video Solution

∫
π / 2

0

dx
sinx − cos x

1 + sinx cos x

312. Evaluate: 

Watch Video Solution

∫
π / 2

0

(2 log sinx − log sin 2x)dx

313. Evaluate: 

Watch Video Solution

∫
π

0

dx
ecos x

ecos x + e− cos x

314. Evaluate: 

Watch Video Solution

∫
1

0
x(1 − x)

n
dx

https://dl.doubtnut.com/l/_Gi3C7bsMTR8h
https://dl.doubtnut.com/l/_sOKspL6FgxZY
https://dl.doubtnut.com/l/_SLmnW22jSKEn
https://dl.doubtnut.com/l/_0zbIcbc9rCZl


315. Evaluate: 

Watch Video Solution

∫
1

0
cot − 1(1 − x + x2)dx

316. If 
 are continuious on 
 and satisfy 


 show that 

Watch Video Solution

f and g [0,  a]

f(x) = f(a − x)and g(x) + g(a − x) = 2.

∫
a

0

f(x)g(x)dx = ∫
a

0

f(x)dx

317. Evaluate: 

Watch Video Solution

∫
2π

0

dx
1

1 + esin x

318. Evaluate: 

Watch Video Solution

∫
π

0

dx
1

1 + ecos x

https://dl.doubtnut.com/l/_yXObxWR6Lj9G
https://dl.doubtnut.com/l/_zSHfQeuKJhCY
https://dl.doubtnut.com/l/_yRSUh5QFABJM
https://dl.doubtnut.com/l/_NE2csRIyCAbz


319. Evaluate: 

Watch Video Solution

∫
π

0

dx
x

a2 cos2 x + b2 sin2 x

320. Evaluate: 

Watch Video Solution

∫
π

0

dx
x sinx

1 + cos2 x

321. Evaluate: 

Watch Video Solution

∫
π

0
dx

x

1 + sinx

322. Evaluate :


Watch Video Solution

∫
π

0
dx

x tanx

secx + tanx

323. Evaluate: ∫
π / 2

0
dx

x

sinx + cos x

https://dl.doubtnut.com/l/_xzv0VRvDy1zu
https://dl.doubtnut.com/l/_FgQB8w1FRTp6
https://dl.doubtnut.com/l/_nNhpW1NQ9146
https://dl.doubtnut.com/l/_GvNfjx5Tprdd
https://dl.doubtnut.com/l/_WTq7DzDG4KZW


Watch Video Solution

324. Evaluate: 

Watch Video Solution

∫
π / 2

0

dx
x sinx cos x

sin4 x + cos4 x

325. Evaluate: 

Watch Video Solution

∫
π / 2

−π / 2

dx
1

1 + esin x

326. Evaluate: 

Watch Video Solution

∫
π / 2

−π / 2

dx
1

1 + esin x

327. Evaluate: 

Watch Video Solution

∫
π / 2

−π / 2
dx

cos x

1 + ex

https://dl.doubtnut.com/l/_WTq7DzDG4KZW
https://dl.doubtnut.com/l/_U8m7ByKT6yFX
https://dl.doubtnut.com/l/_Wqe0hM4cwrJr
https://dl.doubtnut.com/l/_GkcQIEpgiNNv
https://dl.doubtnut.com/l/_b9fzFyBvMLPB


328. Evaluate: 

Watch Video Solution

∫
π / 2

−π / 2
sin7 xdx

329. Evaluate: 

Watch Video Solution

∫
π / 2

−π / 2

sin2 x dx

330. Evaluate: 

Watch Video Solution

∫
π / 2

−π / 2

|sinx|dx

331. Evaluate: 

Watch Video Solution

∫
π

−π

(cos ax + sin bx)2
dx

https://dl.doubtnut.com/l/_b9fzFyBvMLPB
https://dl.doubtnut.com/l/_mJCdm4T0McTs
https://dl.doubtnut.com/l/_yavF6RwnvO6P
https://dl.doubtnut.com/l/_VmkAgTXS8EK4
https://dl.doubtnut.com/l/_ZuBODuQ2pLZs
https://dl.doubtnut.com/l/_dvPOV3yxbb9v


332. Find the value of 

Watch Video Solution

∫
− 1

|x sinπx|dx

3
2

333. Evaluate: 

Watch Video Solution

∫
2π

0
cos5 x dx

334. Prove that: 

Watch Video Solution

∫
π / 2

0
log sinx dx =  ∫

π / 2

0
log cos x dx = − log 2

π

2

335. Evaluate: 

Watch Video Solution

∫
π

0

log(1 + cos x)dx

336. Evaluate the following integral: dx∫
π / 2

0

1

1 + tanx

https://dl.doubtnut.com/l/_dvPOV3yxbb9v
https://dl.doubtnut.com/l/_p13c7gbgyequ
https://dl.doubtnut.com/l/_hNAG1kaJ7kkK
https://dl.doubtnut.com/l/_ZwhkwNuiIPxT
https://dl.doubtnut.com/l/_nLN3IIT5CKZg


Watch Video Solution

337. Evaluate the following integral: 

Watch Video Solution

∫
π / 2

0

dx
√cot x

√cot x  + √tanx

338. Evaluate the following integral: 

Watch Video Solution

∫
a

0
dx

1

x + √a2 − x2

339. Evaluate the following integral: 

Watch Video Solution

∫
π / 2

0

dx
1

1 + cot x

340. Evaluate the following integral: 

Watch Video Solution

∫
π / 2

0

dx
sin3 / 2 x 

sin3 / 2 x + cos3 / 2 x

https://dl.doubtnut.com/l/_nLN3IIT5CKZg
https://dl.doubtnut.com/l/_7Be6Sr4qLi8q
https://dl.doubtnut.com/l/_7L9QgGtYIW1T
https://dl.doubtnut.com/l/_oHJsafp64XMk
https://dl.doubtnut.com/l/_lSSU8wVZTIJj


341. Evaluate the following integral: 

Watch Video Solution

∫
π / 2

0
dx

1

1 + tanx

342. Evaluate the following integral: 

Watch Video Solution

∫
∞

0

dx
logx

1 + x2

343. Evaluate the following integral:

Watch Video Solution

∫
1

0
dx

log(1 + x)

1 + x2

344. Evaluate the following integral:

Watch Video Solution

∫
π

0
dx

x tanx

secx cos ec x

https://dl.doubtnut.com/l/_lSSU8wVZTIJj
https://dl.doubtnut.com/l/_dRa57I9JpkR6
https://dl.doubtnut.com/l/_xwqgsTKdKUoE
https://dl.doubtnut.com/l/_IB8KgmA3HE2N
https://dl.doubtnut.com/l/_HkN3Sj8bhWKZ


345. Evaluate the following integral:

Watch Video Solution

∫
π

0

x sin3 x dx

346. Evaluate the following integral:

Watch Video Solution

∫
π

0
dx

x sinx

1 + sinx

347. Evaluate the following integral:

Watch Video Solution

∫
π / 2

0
dx

tan7 x

tan7 x + cot7 x

348. Evaluate the following integral:

Watch Video Solution

∫
π / 2

0

x sinx cos2 x dx

https://dl.doubtnut.com/l/_7O35gNYZXyYr
https://dl.doubtnut.com/l/_URSZogdI6lX7
https://dl.doubtnut.com/l/_Ts0SQMIqmMtc
https://dl.doubtnut.com/l/_770ymRXJP51V


349. Evaluate the following integral:

Watch Video Solution

∫
π / 2

−π / 2
sin3 x dx

350. Evaluate the following integral:

Watch Video Solution

∫
1

− 1

log( )dx
2 − x

2 + x

351. Evaluate the following integral:

Watch Video Solution

∫
π

0

log(1 − cos x)dx

352. Evaluate the following integral:

Watch Video Solution

∫
π

−π

dx
2x(1 + sinx)

1 + cos2 dx

https://dl.doubtnut.com/l/_ikQLpqdgXE5U
https://dl.doubtnut.com/l/_MeCqxEUI6qS7
https://dl.doubtnut.com/l/_ZQRhhCiOVlsj
https://dl.doubtnut.com/l/_Od69Hm7uOa8u


353. Evaluate the following integral:

Watch Video Solution

∫
2

0
x √2 − x dx

354. Evaluate the following integral:

Watch Video Solution

∫
∞

0

dx
x

(1 + x)(1 + x2)

355. Evaluate the following integral:

Watch Video Solution

∫
π

0

x sinx cos4 x dx

356. Evaluate the following integral:

Watch Video Solution

∫
π

0
x log sinx dx

357. Evaluate the following integral:∫
π

0
x log sinx dx

https://dl.doubtnut.com/l/_DqtBN8Ycl78P
https://dl.doubtnut.com/l/_QrCLwmYvcioF
https://dl.doubtnut.com/l/_nwnDeLl9QnDz
https://dl.doubtnut.com/l/_y7VFSDNRLro0
https://dl.doubtnut.com/l/_6uJq4fMzYapY


Watch Video Solution

358. Evaluate the following integral: 'int__pi//3^(pi//6)
 {1/(1+cot^(3/2)x)}

dx' ,

Watch Video Solution

359. Evaluate the following integral:

Watch Video Solution

∫
π / 3

π / 6
dx

1

1 + cot3 / 2 x

360. Evaluate the following integral:

Watch Video Solution

∫
8

2

dx
√10 − x

√x + √10 − x

361. Evaluate the following integral:

W h Vid S l i

∫
π / 2

0

dx
x sinx cos x

sin4 x + cos4 x

https://dl.doubtnut.com/l/_6uJq4fMzYapY
https://dl.doubtnut.com/l/_TET44BACzpsw
https://dl.doubtnut.com/l/_vdav7JKZBbq4
https://dl.doubtnut.com/l/_KYAdI51ULZ7E
https://dl.doubtnut.com/l/_llWQN5E1bP4N


Watch Video Solution

362. Evaluate the following integral:

Watch Video Solution

∫
π / 2

−π / 2

sin2 x dx

363. Evaluate the following integral:

Watch Video Solution

∫
π / 4

−π / 4

sin2 x dx

364. Evaluate the following integral:

Watch Video Solution

∫
π / 2

−π / 2
log( )dx

2 − sinx

2 + sinx

365. Evaluate the following integral:

Watch Video Solution

∫
−π / 2

− 3π / 2
{sin2(3π + x) + (π + x)3}dx

https://dl.doubtnut.com/l/_llWQN5E1bP4N
https://dl.doubtnut.com/l/_EbS8o2JUboXe
https://dl.doubtnut.com/l/_EbNwpxy0hUEc
https://dl.doubtnut.com/l/_DX5xuKKXtPG8
https://dl.doubtnut.com/l/_lUvnZI12nE1x


366. Evaluate the following integral:

Watch Video Solution

∫
1

0

log( − 1)dx
1

x

367. Evaluate the following integral:

Watch Video Solution

∫
2π

0
sin100 x cos101 x dx

368. If 
 is an integrable function such that 
 then

prove that 

Watch Video Solution

f f(2a − x) = f(x),

∫
2a

0
f(x)dx = 2∫

a

0
f(x)dx

369. If 
prove that 

Watch Video Solution

f(2a − x) = − f(x), ∫
2a

0

f(x)dx = 0

https://dl.doubtnut.com/l/_lUvnZI12nE1x
https://dl.doubtnut.com/l/_QEZ1nwj0r9Ua
https://dl.doubtnut.com/l/_0LOJecYeeQi5
https://dl.doubtnut.com/l/_mHPm8teBQQnw
https://dl.doubtnut.com/l/_gxIAeKrU9DkU


370. If 
 is an integrable function, show that

Watch Video Solution

f

∫
a

−a

f(x2)dx = 2∫
a

0

f(x2)dx

371. If 
is an integrable function, show that


Watch Video Solution

f ∫
a

−a

xf(x2)dx = 0

372. If 
 is a continuous function defined on 
 Then prove that 

Watch Video Solution

f(x) [0,  2a].

∫
2a

0

f(x)dx = ∫
a

0

{f(x) + (2a − x)}dx

373. If
 
 then
 prove that f(a + b − x) = f(x),

∫
b

a

xf(x)dx = ∫
b

a

f(x)dx.
a + b

2

https://dl.doubtnut.com/l/_gxIAeKrU9DkU
https://dl.doubtnut.com/l/_ONqsgnDOXz35
https://dl.doubtnut.com/l/_5Yeh5WkSYFla
https://dl.doubtnut.com/l/_uLEeo0We7TCg
https://dl.doubtnut.com/l/_5YkfVCqAyuBL


Watch Video Solution

374. If 
 , then prove that

Watch Video Solution

f(a + b − x) = f(x)

∫
b

a

xf(x)dx = ( )∫
b

a

f(x)dx.
a + b

2

375. Property 8: If f(x) is a continuous function defined on  then 

Watch Video Solution

[ − a; a]

∫
a

−a

f(x)dx = ∫
a

0
{f(x) + f( − x)}dx

376. If , then  is 


(A) 


(B) 


(C)  

(D) 

∫
π

0
xf(sinx)dx = A∫

0
f(sinx)dx

π

2

A

π

2

π

0

2π

https://dl.doubtnut.com/l/_5YkfVCqAyuBL
https://dl.doubtnut.com/l/_byoXh1ERYCis
https://dl.doubtnut.com/l/_EN0aMOFfu5PZ
https://dl.doubtnut.com/l/_UeEDZ7AF9kEv


Watch Video Solution

377. Evaluate the following integrals as limit of sum: 

Watch Video Solution

∫
2

0

(x + 4)dx

378. Evaluate: 

Watch Video Solution

∫(2x + 1)dx

379. Evaluate the following integrals as limit of sum: 

Watch Video Solution

∫
3

0
(x + 4)dx

380. Evaluate the following integrals as limit of sum: 

Watch Video Solution

∫
3

1

(3x − 2)dx

https://dl.doubtnut.com/l/_UeEDZ7AF9kEv
https://dl.doubtnut.com/l/_iSsKVCbWUr9r
https://dl.doubtnut.com/l/_RVYMGZ0x2ze9
https://dl.doubtnut.com/l/_5tAD3AAj5UDZ
https://dl.doubtnut.com/l/_7VLa7gbL2zde
https://dl.doubtnut.com/l/_G1XjjolUlheR


381. Evaluate the following integrals as limit of sum: 

Watch Video Solution

∫
3

1
(3x − 2)dx

382. Evaluate


Watch Video Solution

∫(x + 1)dx

383. Evaluate: 

Watch Video Solution

∫
5

3

(2 − x)dx

384. Evaluate the definite integrals as limit of sums 

Watch Video Solution

∫
1

z

x2dx

385. Evaluate the following integrals as limit of sum: ∫
2

1

(x2 − 1)dx

https://dl.doubtnut.com/l/_G1XjjolUlheR
https://dl.doubtnut.com/l/_pc4NRqBCJaDf
https://dl.doubtnut.com/l/_cE20VXfX9x72
https://dl.doubtnut.com/l/_RrHD05ozguhe
https://dl.doubtnut.com/l/_gEh25LTLW32n


Watch Video Solution

386. Evaluate the following integrals : 

Watch Video Solution

∫
2

0
(x + 3)dx

387. Evaluate the following integrals : 

Watch Video Solution

∫
1

− 1
(x + 3)dx

388. Evaluate the following integrals as limit of sum: 

Watch Video Solution

∫
3

1
(2x + 3)dx

389. Evaluate the following integrals 

Watch Video Solution

∫
3

1

(2x + 3)dx

https://dl.doubtnut.com/l/_gEh25LTLW32n
https://dl.doubtnut.com/l/_wGo2AC9KkedL
https://dl.doubtnut.com/l/_FjwzXdpI7qdv
https://dl.doubtnut.com/l/_nS9GMRCEkX3M
https://dl.doubtnut.com/l/_3qZ0AvE9VA0j


390. Evaluate the following integrals as limit of sum: 

Watch Video Solution

∫
2

0
(x2 + 1)dx

391. Evaluate the following integrals : 

Watch Video Solution

∫
3

2

(2x2 + 1)dx

392. Evaluate the following integrals as limit of sum: 

Watch Video Solution

∫
2

0

(x2 + 4)dx

393. Evaluate the following integrals as limit of sum: 

Watch Video Solution

∫
4

1
(x2 − x)dx

https://dl.doubtnut.com/l/_w2sia4ipKgcM
https://dl.doubtnut.com/l/_uXxmhkDZ36c3
https://dl.doubtnut.com/l/_agrHHEhkNcPp
https://dl.doubtnut.com/l/_doUwhCadazzq


394. Evaluate the following integrals as limit of sum: 

Watch Video Solution

∫
2

0
exdx

395. Evaluate. 

Watch Video Solution

∫
b

a

cos xdx

396. Evaluate the following integrals as limit of sum: 

Watch Video Solution

∫
π / 2

0
cos x dx

397. Evaluate the following integrals as limit of sum: 

Watch Video Solution

∫
2

0
(3x2 − 2)dx

https://dl.doubtnut.com/l/_DASrgMoZ7WJq
https://dl.doubtnut.com/l/_95zD50Px8yFT
https://dl.doubtnut.com/l/_zLPKg9MFB5CI
https://dl.doubtnut.com/l/_iwg4YkFYXHLW
https://dl.doubtnut.com/l/_DVWvBok24Fcn


398. Evaluate


A. ∫_0^4▒〖(x+e^2x)dx〗

B. null

C. null

D. null

Answer: null

Watch Video Solution

∫(x + e2x)dx

399. Evaluate 

Watch Video Solution

∫(x2 +  2x + 1)dx

400. Evaluate


Watch Video Solution

∫abxdx

https://dl.doubtnut.com/l/_DVWvBok24Fcn
https://dl.doubtnut.com/l/_YB7OfMXzAClv
https://dl.doubtnut.com/l/_Li9alNydP7SP
https://dl.doubtnut.com/l/_bmXo8XdBfpwP


401. Evaluate the following integrals as limit of sum: 

Watch Video Solution

∫
3

2

x2dx

402. Evaluate


Watch Video Solution

∫x2dx

403. Evaluate: 

Watch Video Solution

∫(x2 − x)dx

404. Evaluate : 

Watch Video Solution

∫(3x2 + 1)dx

405. Evaluate: ∫
1

0

(3x2 + 5x)dx

https://dl.doubtnut.com/l/_bmXo8XdBfpwP
https://dl.doubtnut.com/l/_fCvRj4aGeTC4
https://dl.doubtnut.com/l/_xG1u6YFNOmNF
https://dl.doubtnut.com/l/_KD5PcSZOp3RR
https://dl.doubtnut.com/l/_KarxHUOYzEmv


Watch Video Solution

406. Evaluate the following integrals as limit of sum: 

Watch Video Solution

∫
b

a

exdx

407. Evaluate : 

Watch Video Solution

∫
π / 2

0

sinx dx

408. Evaluate :


Watch Video Solution

∫
2

0
(x2 + 2)dx

409. Evaluate the following integrals : 

Watch Video Solution

∫
4

1

(3x2 + 2x)dx

https://dl.doubtnut.com/l/_KarxHUOYzEmv
https://dl.doubtnut.com/l/_lQXacnTzSPS2
https://dl.doubtnut.com/l/_AruBZn4t3YZA
https://dl.doubtnut.com/l/_SaayUeVmGVlL
https://dl.doubtnut.com/l/_KfTshDgkj2vH


410. Evaluate the following integrals : 

Watch Video Solution

∫
2

0
(x2 + x)dx

411. Evaluate the following integrals :


Watch Video Solution

∫
3 .

0

(2x2 + 3x + 5)dx

412. Evaluate the following
 definite integrals as limit of sums.

Watch Video Solution

∫
5

0
(x + 1)dx

413. Evaluate the following
definite integrals 

Watch Video Solution

∫(x2 − x)dx

https://dl.doubtnut.com/l/_KfTshDgkj2vH
https://dl.doubtnut.com/l/_WGIcTOOMhdWW
https://dl.doubtnut.com/l/_Gv8mfhD8VpZE
https://dl.doubtnut.com/l/_CL54I9d61YBw
https://dl.doubtnut.com/l/_HTqu1ngBFeJM
https://dl.doubtnut.com/l/_ZTen66m1c0oI


414. Evaluate: 

Watch Video Solution

∫
3

1

(2x2 + 5x)dx

415. Evaluate each of the following integral: 

Watch Video Solution

∫
π / 2

0

sin2 x dx

416. Evaluate : 

Watch Video Solution

∫
−

sin2 xdx

π

2

π

2

417. Evaluate each of the following integral: 

Watch Video Solution

∫
π / 2

−π / 2
sin2 x dx

https://dl.doubtnut.com/l/_ZTen66m1c0oI
https://dl.doubtnut.com/l/_JEkx4icSRPjN
https://dl.doubtnut.com/l/_EE3yAmktcZHo
https://dl.doubtnut.com/l/_g9OanZ8JNRkW


418. Evaluate each of the following integral: 

Watch Video Solution

∫
π / 4

0

tan2 x dx

419. Evaluate each of the following integral: 

Watch Video Solution

∫
1

− 2
dx

|x|

x

420. Evaluate each of the following integral: 

Watch Video Solution

∫
4

0

dx
1

√16 − x2

421. Evaluate:


Watch Video Solution

∫
π / 2

0
√1 − cos 2xdx.

https://dl.doubtnut.com/l/_LLgxdOYHf1OW
https://dl.doubtnut.com/l/_GIgTUhaAcNAc
https://dl.doubtnut.com/l/_tcCne5Mb4M8t
https://dl.doubtnut.com/l/_YhhnJXikZNda


422. Evaluate each of the following integral: 

Watch Video Solution

∫
π / 2

0

log( )dx
3 + 5 cos x

3 + 5 sinx

423. Evaluate each of the following integral: 

Watch Video Solution

∫
π

0

cos5 x dx

424. Evaluate each of the following integral: 

Watch Video Solution

∫
1

− 1

x|x|dx

425. Evaluate the following definite integral: 

Watch Video Solution

∫
1

0
dx

1

1 + x2

https://dl.doubtnut.com/l/_Op3LfKzktcgi
https://dl.doubtnut.com/l/_le5SHKlYkhYS
https://dl.doubtnut.com/l/_AZAM6Hg4JyGu
https://dl.doubtnut.com/l/_srSc63jhEmva


426. Evaluate each of the following integral: 

Watch Video Solution

∫
3

2
dx

1

x

427. Evaluate each of the following integral: 

Watch Video Solution

∫
1

0

dx
2x

1 + x2

428. Evaluate each of the following integral: 

Watch Video Solution

∫
π / 4

0

sin 2x dx

429. Evaluate each of the following integral: 

Watch Video Solution

∫
π / 2

0

cos2 x dx

https://dl.doubtnut.com/l/_JAaJKN06lpI1
https://dl.doubtnut.com/l/_XmmeyUwsvUu3
https://dl.doubtnut.com/l/_InYggSRlNJXk
https://dl.doubtnut.com/l/_0o6xqpMY6hdD


430. Evaluate each of the following integral: 

Watch Video Solution

∫
π / 2

−π / 2
cos2 x dx

431. Evaluate the following integral: 

Watch Video Solution

∫
π / 2

−π / 2
x cos2 x dx

432. Evaluate the following definite integral: 

Watch Video Solution

∫
1

− 1

dx
1

1 + x2

433. Evaluate each of the following integral: 

Watch Video Solution

∫
∞

0
e−xdx

https://dl.doubtnut.com/l/_XriRLOsaMu2r
https://dl.doubtnut.com/l/_j23uhXGFcMxJ
https://dl.doubtnut.com/l/_UIR12vETFV8J
https://dl.doubtnut.com/l/_66CPxyevnhXO


434. Evaluate each of the following integral: 

Watch Video Solution

∫
1

− 1
dx

1

x2 + 1

435. Evaluate each of the following integral: 

Watch Video Solution

∫
π / 2

0
log tanxdx

436. Evaluate
the following integrals: 

Watch Video Solution

∫
π / 2

0
dx

sinn x

sinn x + cosn x

437. Evaluate each of the following integral: 

Watch Video Solution

∫
π / 2

−π / 2

log( )dthη
a − sin θ

a + sin θ

https://dl.doubtnut.com/l/_9KCQ9UgllYNe
https://dl.doubtnut.com/l/_ynWOPD4GczBp
https://dl.doubtnut.com/l/_dDJ3soRqYQzG
https://dl.doubtnut.com/l/_3ZkB2cHpR2wC


438. Evaluate each of the following integral: 

Watch Video Solution

∫
b

a

dx
f(x)

f(x) + f(a + b − x)

439. Evaluate each of the following integral: 

Watch Video Solution

∫
2

0

√4 − x2dx

440. Evaluate each of the following integral: 

Watch Video Solution

∫
1

0

x ex ^ 2dx

441. Evaluate each of the following integral: 

Watch Video Solution

∫
e2

e

dx
1

x logx

https://dl.doubtnut.com/l/_r4bgr7PYwSgw
https://dl.doubtnut.com/l/_6Zqlza1VIo6z
https://dl.doubtnut.com/l/_HsjohRZmJYsL
https://dl.doubtnut.com/l/_6SVGEEiBs7Sy


442. Evaluate each of the following integral: 

Watch Video Solution

∫
π / 2

0

ex(sinx − cos x)dx

443. Evaluate each of the following integral: 

Watch Video Solution

∫
4

2
dx

x

x2 + 1

444. If 
find the
value of 

Watch Video Solution

∫
1

0

(3x2 + 2x + k)dx = 0, k.

445. If 
write the value of 

Watch Video Solution

∫
a

0
3x2dx = 8, ' a ′ .

https://dl.doubtnut.com/l/_JcjPyyRDtdBV
https://dl.doubtnut.com/l/_K82UmGTViF9C
https://dl.doubtnut.com/l/_kIRBNy1uR4ll
https://dl.doubtnut.com/l/_72s7IQKQ0IIq


446. If 
then write the value of 

Watch Video Solution

(x) = ∫
x

0
t sin t dt, f ′ (x)

447. If 
, find the value of 

Watch Video Solution

∫
a

0

dx =
1

4 + x2

π

8
a.

448. The value of  depends on (A) the value of b

(B) the value of c (C) the value of a (D) the value of a and b

Watch Video Solution

∫
2

− 2
(ax3 + bx + c)dx

449. If 
 denote respectively the greatest integer and fractional

part functional
respectively, evaluate the following integral: 

Watch Video Solution

[.]and {.}

∫
2

0

[x]dx

https://dl.doubtnut.com/l/_8hUF2alMNyO7
https://dl.doubtnut.com/l/_RMIQz7srcMEG
https://dl.doubtnut.com/l/_OoH9nDT9I268
https://dl.doubtnut.com/l/_8jOrLZofVL46


450. If 
 denote respectively the greatest integer and fractional

part functional
respectively, evaluate the following integral: 

Watch Video Solution

[.]and {.}

∫
1

0
{x}dx

451. If 
 denote respectively the greatest integer and fractional

part functional
respectively, evaluate the following integral: 

Watch Video Solution

[.]and {.}

∫
2

0
x[x]dx

452. If 
 denote respectively the greatest integer and fractional

part functional
 respectively, evaluate the following integral:

Watch Video Solution

[.]and {.}

∫
2

1

(log)
e
  [x]dx

https://dl.doubtnut.com/l/_xQvsxLUVbLvi
https://dl.doubtnut.com/l/_HhRR0KeITMDP
https://dl.doubtnut.com/l/_uocaEfbI4aX2


453. If 
 denote respectively the greatest integer and fractional

part functional
respectively, evaluate the following integral: 

Watch Video Solution

[.]and {.}

∫
15

0
[x]dx

454. If 
 denote respectively the greatest integer and fractional

part functional
respectively, evaluate the following integral: 

Watch Video Solution

[.]and {.}

∫
1

0

e [x ]dx

455. If 
 denote respectively the greatest integer and fractional

part functional
respectively, evaluate the following integral: 

Watch Video Solution

[.]and {.}

∫
1

0

2x− [x ]dx

456. If 
 denote respectively the greatest integer and fractional

part functional
respectively, evaluate the following integral: 

[.]and {.}

∫
√2

0

[x2]dx

https://dl.doubtnut.com/l/_d0ZL3Zow8dqu
https://dl.doubtnut.com/l/_gBC2qgNYff5P
https://dl.doubtnut.com/l/_KBREPkthVxNN
https://dl.doubtnut.com/l/_wiO6KopHimxj


Watch Video Solution

457. The value of 
is
 
b. 
c. 
d. none of

these

Watch Video Solution

∫
π / 2

0

dx
√cos x

√cos x + √sinx
π/2 π/4 0

458. 
equals
a. 
b. 
c. 
d. 

Watch Video Solution

∫
π

0
dx

1

1 + sinx
0 1/2 2 3/2

459. 
equals
a. 
b. 
c. 
d. 

Watch Video Solution

∫
∞

0

dx
1

1 + ex
log 2 − 1 log 2 log 4 − 1 log 2

460. The value of 
is
a. 
b. 
c. 
d. 

W t h Vid S l ti

∫
2π

0
√1 + sin( )dx

x

2
0 4 2 8

https://dl.doubtnut.com/l/_wiO6KopHimxj
https://dl.doubtnut.com/l/_qiruTEiuRFip
https://dl.doubtnut.com/l/_vXavSj3cUelr
https://dl.doubtnut.com/l/_PA9VdX5juHxs
https://dl.doubtnut.com/l/_e9twu5FKTvrh


Watch Video Solution

461. 
equals
a. 
b. 
c. 
d. 

Watch Video Solution

∫
π2 / 4

0

dx
sin √x

√x
π2 /8 π/4 2 1

462. 
equals
a. 
 b. 

c. 
d. 

Watch Video Solution

∫
π / 2

0

dx
1

2 + cos x
tan− 1( )

1

3

1

√3
tan− 1( )

2

√3

1

√3

√3 tan− 1(√3) 2√3 tan− 1 √3

463.  equals to

Watch Video Solution

∫
π / 3

π / 6

36

π

dx

1 + √cot x

464. Given that


 the∫
∞

0
dx =

x2

(x2 + a2)(x2 + b2)(x2 + c2)

π

2(a + b)(b + c)(c + a)

https://dl.doubtnut.com/l/_e9twu5FKTvrh
https://dl.doubtnut.com/l/_MOd0hZRzxv81
https://dl.doubtnut.com/l/_9ItwO1hsgedC
https://dl.doubtnut.com/l/_e8MXgnkrjhWP
https://dl.doubtnut.com/l/_QqrTLlOekuK6


value of 
is



a. 


b. 


c. 


d. 

Watch Video Solution

∫
∞

0
,

dx

(x2 + 4)(x2 + 9)
π

60
π

40
π

20
π

80

465. 
a. 
b. 
c. 
d. 

Watch Video Solution

∫
e

1

logx dx = 1 e − 1 e + 1 0

466. 
is equal to
a. 
b. 
c. 
d. 

Watch Video Solution

∫
√3

1
dx

1

1 + x2

π

12

π

4

π

6

π

3

467. The value of 
a. 
b. 
c. 
d. 

W t h Vid S l ti

∫
π / 2

0
cos x esin xdx is 1 e − 1 0 −1

https://dl.doubtnut.com/l/_QqrTLlOekuK6
https://dl.doubtnut.com/l/_F12nW7jtHRdu
https://dl.doubtnut.com/l/_WwkJQnDYE78l
https://dl.doubtnut.com/l/_NFdNJ1PTuYcu


Watch Video Solution

468. If 
, then 
equals
a. 
b. 
c. 
d. 

Watch Video Solution

∫
a

0

dx =  
1

1 + 4x2

π

8
a

π

2
π

4

1
2

1

469.

equals a.
 
b. 
c. 
d. none of these

Watch Video Solution

∫
1

0

f(x)dx = 1,  ∫
1

0

xf(x)dx = a,  ∫
1

0

x2f(x)dx = a2,  then ∫
1

0

(a − x)2

4a2 0 2a2

470. The value of 
is
a. 
b. 
c. 
d. none of these

Watch Video Solution

∫
π

−π

sin3 x cos2 x dx
π4

2
π4

4
0

https://dl.doubtnut.com/l/_NFdNJ1PTuYcu
https://dl.doubtnut.com/l/_buNrOokj4o7Z
https://dl.doubtnut.com/l/_9hOxJ1GqvDsr
https://dl.doubtnut.com/l/_hOrbJ7GRQJuh


471. 
 is equal to a. 
 b. 
 c. 
 d. 

Watch Video Solution

∫
π / 3

π / 6
dx

1

sin 2x
(log)e3 (log)e√3 log( − 1)

1

2

log( − 1)

472. 
is equal to
 
b. 
c. 
d. 

Watch Video Solution

∫
1

− 1

|1 − x|dx a. − 2 2 0 4

473. 


a. 


b. 


c. 


d. 

Watch Video Solution

∫
1

0
dx =

x

(1 − x)54

9( )
9π

2

10( )
9π

2

( )
9π

2

9 ( )
8π

2

https://dl.doubtnut.com/l/_Da9DX2EaOJDV
https://dl.doubtnut.com/l/_cLfYJUJeOFwH
https://dl.doubtnut.com/l/_2Q02qg7g6CSt


474. 
 a. 
 b. 


c. 
d. 

Watch Video Solution

( lim )n→ ∞{ + + + }
1

2n + 1

1

2n + 2

1

2n + n
In ( )

1

3

In ( )
2

3
In ( )

3

2
In ( )

4
3

475. The value of the integral 
is
a. 
b. 
c. 
d. 

Watch Video Solution

∫
2

− 2

∣∣1 − x2∣∣dx 4 2 −2 0

476. 
is equal to
a 
b. 
c. 
d. 

Watch Video Solution

∫
π / 2

0
dx

1

1 + cot3 x
0 1 π/2 π/4

477. 
equals to
a. 
b. 
c. 
d. 

Watch Video Solution

∫
π / 2

0

dx
sinx

sinx + cos x
π/2 π/4 π/3 π

https://dl.doubtnut.com/l/_je2KIWtB74Vf
https://dl.doubtnut.com/l/_osoSUUu74qq0
https://dl.doubtnut.com/l/_4sLbeJnw8Ays
https://dl.doubtnut.com/l/_aBzxaVrEug1k
https://dl.doubtnut.com/l/_BGvurxl9CBAz


478. 
is equal to
a. 
b. 
c. 
d. 

Watch Video Solution

∫
π / 2

0

x sinx dx π/2 π/4 π 1

479. 
is equal to
a. 
b. 
c. 
d. 

Watch Video Solution

∫
π / 2

0

sin 2x log tanx dx π/2 π 0 2π

480. The value of 
is 

a. 


b. 


c. 

d. 

Watch Video Solution

∫
π

0

dx
1

5 + 3 cos x

π/2

π/4

0

π/8

481. Evaluate:∫
∞

0
log(x + )

1

x

dx

1 + x2

https://dl.doubtnut.com/l/_BGvurxl9CBAz
https://dl.doubtnut.com/l/_yEFstkN9jjoJ
https://dl.doubtnut.com/l/_wvrN7z2FTLFJ
https://dl.doubtnut.com/l/_rOlJH6LAo4uw


Watch Video Solution

482. 
is equal to



a. 


b. 

c. 


d. 

Watch Video Solution

∫
2a

0

f(x)dx

2∫
a

0
f(x)dx

0

∫
a

0

f(x)dx + ∫
a

0

f(2a − x)dx

∫
a

0
f(x)dx + ∫

2a

0
f(2a − x)dx

483. If 
is equal to



a. 


b. 


c. 


d. 

Watch Video Solution

f(a + b − x) = f(x),  then ∫
b

a

xf(x)dx

∫
b

a

f(b − x)dx
a + b

2

∫
b

a

f(b + x)dx
a + b

2

∫
b

a

f(x)dx
b − 1

2

∫
b

a

f(x)dx
a + b

2

https://dl.doubtnut.com/l/_rOlJH6LAo4uw
https://dl.doubtnut.com/l/_jBxCCVt2CeOR
https://dl.doubtnut.com/l/_qrIddEVpkaX0
https://dl.doubtnut.com/l/_GVoolFDU2hw9


484. The value of 
is



a.

b. 


c. 

d. 

Watch Video Solution

∫
1

0

tan− 1( )dx,
2x − 1

1 + x − x2

1

−1

0

π/4

485. Choose the correct answer
 The value of 

(A) 2 (B) 
(C)
0 (D) -2

Watch Video Solution

∫0 log( )dx
π

2
4 − 3 sinx

4 + 3 cos x
3

4

486. The value of 
is
a. 
b. 
c. 
d.

1

Watch Video Solution

∫
π / 2

−π / 2
(x3 + x cos x + tan5 x + 1)dx, 2 π 0

https://dl.doubtnut.com/l/_GVoolFDU2hw9
https://dl.doubtnut.com/l/_cMnJvlmZAcNh
https://dl.doubtnut.com/l/_zgaMnn6B8bBi
https://dl.doubtnut.com/l/_T0KA977rH5pM


487. Evaluate the following integral: 

Watch Video Solution

∫
4

0

x √4 − x dx

488. Evaluate the following integral: 

Watch Video Solution

∫
5

1
dx

x

√2x − 1

489. Evaluate the following integral: 

Watch Video Solution

∫
1

0

tan− 1 x dx

490. Evaluate the following integral: 

Watch Video Solution

∫
1

0
tan− 1( )dx

2x

1 − x2

https://dl.doubtnut.com/l/_T0KA977rH5pM
https://dl.doubtnut.com/l/_hOAyxRmP7Ptn
https://dl.doubtnut.com/l/_UNI24ZnzzmYW
https://dl.doubtnut.com/l/_mMHTD4dFaINe


491. Evaluate the following integral: 

Watch Video Solution

∫
1

0
dx

1 − x

1 + x

492. Evaluate the following integral: 

Watch Video Solution

∫
π / 2

0
dx

sin2 x

(1 + cos x)2

493. Evaluate the following integral: 

Watch Video Solution

∫
π / 2

0

dx
cos x

1 + sin2 x

494. Evaluate
the following integrals:


Watch Video Solution

∫
1

0

√ dx
1 − x

1 + x

https://dl.doubtnut.com/l/_SG827RA9lDiN
https://dl.doubtnut.com/l/_cUwJgoew2bVS
https://dl.doubtnut.com/l/_83Rbk4VZlOVL
https://dl.doubtnut.com/l/_o6wLcm5dfWEp


495. Evaluate the following integral: 

Watch Video Solution

∫
π / 4

0

cos4 x sin3 x dx

496. Evaluate the following integral: 

Watch Video Solution

∫
π / 2

0

x2 cos 2x dx

497. Evaluate the following integral: 

Watch Video Solution

∫
4

2
dx

x2 + x

√2x + 1

498. 

Watch Video Solution

∫
1

0

(cos − 1 x)
2
dx

https://dl.doubtnut.com/l/_Kl6y1SGHxzxv
https://dl.doubtnut.com/l/_HgzDX3rOVhH1
https://dl.doubtnut.com/l/_sxwEeffaHnTJ
https://dl.doubtnut.com/l/_wCA5YOdYEBLT


499. Evaluate the following integral: 

Watch Video Solution

∫
2

1
x √3x − 2 dx

500. Evaluate the following integral: 

Watch Video Solution

∫
1

0
cos − 1 x dx

501. Evaluate the following integral: 

Watch Video Solution

∫
1

0

cos − 1( )dx
1 − x2

1 + x2

502. Evaluate the following integral: 

Watch Video Solution

∫
1 / √3

0

tan− 1( )dx
3x − x3

1 − 3x2

https://dl.doubtnut.com/l/_Vq4rEDgm9Cps
https://dl.doubtnut.com/l/_LREI0XTWcN05
https://dl.doubtnut.com/l/_KZXyGFO7nrSJ
https://dl.doubtnut.com/l/_yFtQ5UgakirU


503. If  then  is equal to

Watch Video Solution

∫
0

dx = k log( ),

π

3 cos x

3 + 4 sinx

3 + 2√3

3
k

504. Evaluate the following integral: 

Watch Video Solution

∫
π / 2

0

dx
sinx

√1 + cos x

505. 

Watch Video Solution

∫
π

0
sin3 x(1 + 2 cos x)(1 + cos x)2

dx

506. Evaluate the following integral: 

Watch Video Solution

∫
π / 4

0
sin 2x sin 3x dx

https://dl.doubtnut.com/l/_mCouaE92VMOv
https://dl.doubtnut.com/l/_BS7Ij1E4oZ4U
https://dl.doubtnut.com/l/_kOPl0PUngsJ5
https://dl.doubtnut.com/l/_tLAKwsXCCGfI


507. Evaluate the following integral: 

Watch Video Solution

∫
2

1
e− 1 /xdx

1

x2

508. Evaluate the following integral: 

Watch Video Solution

∫
1

0
log(1 + x)dx

509. Evaluate:


Watch Video Solution

∫
1

0

x tan− 1 xdx

510. Evaluate the following integral: 

Watch Video Solution

∫
2

1

dx
x + 3

x(x + 2)

https://dl.doubtnut.com/l/_QMv7YRaymuWq
https://dl.doubtnut.com/l/_5Nwfz7TYtCSW
https://dl.doubtnut.com/l/_t7uAKCTZypXO
https://dl.doubtnut.com/l/_TSnv22zL4LVS


511. Evaluate the following integral: 

Watch Video Solution

∫
π / 4

0

ex sinx dx

512. Evaluate the following integral: 
x

Watch Video Solution

∫
1

0
|2x − 1|d

513. Evaluate the following integral: 

Watch Video Solution

∫
π / 2

0
|sinx − cos x|dx

514. Evaluate the following integral: 

Watch Video Solution

∫
3

1

∣∣x
2 − 4∣∣dx

https://dl.doubtnut.com/l/_MGG0nSVHT1As
https://dl.doubtnut.com/l/_fLgbhCgMzZu3
https://dl.doubtnut.com/l/_RvAr6AigkuxT
https://dl.doubtnut.com/l/_fUng7rzZJthT


515. Evaluate:


Watch Video Solution

∫
−

cos x log( )dx

1
2

1
2

1 − x

1 + x

516. By using the properties of definite
 integrals, evaluate the integrals

Watch Video Solution

∫
a

0
dx

√x

√x + √a − x

517. Evaluate


Watch Video Solution

∫
π

0

dx
x sinx

1 + cos2 x

518. 

Watch Video Solution

∫
π

0
dx

x

a2 cos2 x + b2 sin2 x

https://dl.doubtnut.com/l/_enOJAtLvFeCi
https://dl.doubtnut.com/l/_QjWITivcwEC8
https://dl.doubtnut.com/l/_AMbhgVefAKHt
https://dl.doubtnut.com/l/_7V3n8l2SF7XY
https://dl.doubtnut.com/l/_NbK3aYZ0945j


519. Evaluate the following integral: 

Watch Video Solution

∫
15

0
[x2]dx

520. Evaluate : 

Watch Video Solution

∫
0

 dx

π

2 x sinx cos x

sin4
x + cos4 x

521. Evaluate:


Watch Video Solution

∫
π

0
 dx

x tanx

secx + tanx

522. Evaluate the following integral: 

Watch Video Solution

∫
π

0

cos 2x log sinx dx

523. Evaluate the following integral: ∫
π

−π

x10 sin7 x dx

https://dl.doubtnut.com/l/_NbK3aYZ0945j
https://dl.doubtnut.com/l/_orAYobHLE38J
https://dl.doubtnut.com/l/_rDp2RfeDfc9A
https://dl.doubtnut.com/l/_xWK6qHNhFrFb
https://dl.doubtnut.com/l/_JNY6goBdRHai


Watch Video Solution

524. Evaluate the following integral: 

Watch Video Solution

∫
π

0

dx

6 − cos x

525. Evaluate the following integral: 

Watch Video Solution

∫
π / 4

0
tan2 x dx

526. Evaluate the following integral: 

Watch Video Solution

∫
3

1

∣∣x
2 − 2x∣∣dx

527. Evaluate the following integral: 

Watch Video Solution

∫
1

0

|sin 2πx|dx

https://dl.doubtnut.com/l/_JNY6goBdRHai
https://dl.doubtnut.com/l/_EltcVwi00SvK
https://dl.doubtnut.com/l/_90YnYLDLGYEr
https://dl.doubtnut.com/l/_0QEQmhZ6nkkC
https://dl.doubtnut.com/l/_ieKgyxKc3Eqs


528. Evaluate the following integral: 

Watch Video Solution

∫
π / 2

−π / 2
sin9 x dx

529. Evaluate the following integral: 

Watch Video Solution

∫
2π

0

cos7 x dx

530. Evaluate the following integral: 

Watch Video Solution

∫
π / 2

0

dx
1

1 + tan3 x

531. Evaluate the following integral: 

Watch Video Solution

∫
π

0
x sinx cos4 x dx

https://dl.doubtnut.com/l/_H7VlaWK0sgny
https://dl.doubtnut.com/l/_M5XNd6Q8swLl
https://dl.doubtnut.com/l/_51hmce2eQnhh
https://dl.doubtnut.com/l/_vieUjiZtgWqD


532. Evaluate the following integral: 

Watch Video Solution

∫
π / 4

−π / 4
|tanx|dx

533. Evaluate the following integral: 

Watch Video Solution

∫
π

0

dx
x

1 + cosα sinx

534. Evaluate the following integral: 

Watch Video Solution

∫
π / 2

0

(cos2 x)dx

535. Evaluate the following integral: 

Watch Video Solution

∫
π

−π

x10 sin7 x dx

https://dl.doubtnut.com/l/_Qv46K1ZxHtmN
https://dl.doubtnut.com/l/_adDmDxTYmq0T
https://dl.doubtnut.com/l/_IetJk7I0AAgJ
https://dl.doubtnut.com/l/_QG0SIBXK3hDb


536. Evaluate the following integral: 

Watch Video Solution

∫
π

0

dx

6 − cos x

537. Evaluate the following integral: 

Watch Video Solution

∫
π / 4

0

tan2 x dx

538. Evaluate the following integral: 

Watch Video Solution

∫
3

1

∣∣x
2 − 2x∣∣dx

539. Evaluate the following integral: 

Watch Video Solution

∫
1

0

|sin 2πx|dx

https://dl.doubtnut.com/l/_FqGrmCUUxwhf
https://dl.doubtnut.com/l/_qIHv2t7QL2Nz
https://dl.doubtnut.com/l/_gn3S5s2vanBS
https://dl.doubtnut.com/l/_W2uMgvYbdlOg


540. Evaluate the following integral: 

Watch Video Solution

∫
π / 2

−π / 2
sin9 x dx

541. Evaluate
the following integrals: 

Watch Video Solution

∫
π

0

( + cos7 x)dx
x

1 + sin2 x

542. Evaluate the following integral: 

Watch Video Solution

∫
π / 2

0
dx

1

1 + tan3 x

543. Evaluate the following integral: 

Watch Video Solution

∫
π

0
x sinx cos4 x dx

https://dl.doubtnut.com/l/_KRjzGS7asd96
https://dl.doubtnut.com/l/_aEeel38Kqlo4
https://dl.doubtnut.com/l/_pfr9dRvHlVJO
https://dl.doubtnut.com/l/_dNN7QpJz4dfM


544. Evaluate the following integral: 

Watch Video Solution

∫
π / 4

−π / 4
|tanx|dx

545. Evaluate the following integral: 

Watch Video Solution

∫
π

0

dx
x

1 + cosα sinx

546. Evaluate the following integral: 

Watch Video Solution

∫
π / 2

0

dx
cos2 x

sinx + cos x

547. Evaluate 

Watch Video Solution

∫
π

0

dx
x

a2 − cos2 x

https://dl.doubtnut.com/l/_fSmlPcKy90jd
https://dl.doubtnut.com/l/_s7QaWJOgVBf4
https://dl.doubtnut.com/l/_DF41R5eKYOnp
https://dl.doubtnut.com/l/_6raJEt9op3kg


548. The value of


Watch Video Solution

∫
3

2
dxis _ _

√x

√5 − x + √x

549. Evaluate the following integral: 

Watch Video Solution

∫
π / 2

0

x

sin2 x + cos2 x

550. 

Watch Video Solution

∫
1

0

cot − 1(1 − x + x2)dx

551. Evaluate the following integral: 

Watch Video Solution

∫
π / 2

0

dx
1

2 cos x + 4 sinx

https://dl.doubtnut.com/l/_qKLpcb7EjbPE
https://dl.doubtnut.com/l/_5VCvHlq2oQ4x
https://dl.doubtnut.com/l/_hqnJKgbUh493
https://dl.doubtnut.com/l/_5M3LyaZrUeSr


552. Evaluate the following integral: 

Watch Video Solution

∫
π / 2

π / 6
dx

cos ec x cot x

1 + cos ec2x

553. Evaluate the following integral: 

Watch Video Solution

∫
π / 2

0

dx

4 cos x + 2 sinx

554. Evaluate the following definite integrals : 

Watch Video Solution

∫
4

0
x dx

555. Evaluate the following definite integrals :


Watch Video Solution

∫
4

1

(x2 + x)dx

https://dl.doubtnut.com/l/_Vd8UbBMccVM3
https://dl.doubtnut.com/l/_ElvvlaHacUjY
https://dl.doubtnut.com/l/_7zVfbf7z2L9A
https://dl.doubtnut.com/l/_ufB4v8L65yZe


556. Evaluate


Watch Video Solution

∫1 + exdx

557. Evaluate the following definite integrals:


Watch Video Solution

∫
3

1
(x2 + 3x)dx

558. Evaluate the following definite integrals :


Watch Video Solution

∫
2

0
(2x2 + 3)dx

559. Evaluate the following definite integrals: 

Watch Video Solution

∫
1

− 1

(e2xdx)

https://dl.doubtnut.com/l/_k57mWIhxsVq0
https://dl.doubtnut.com/l/_0QT4lju52wCC
https://dl.doubtnut.com/l/_0rIjxQJm8Ujb
https://dl.doubtnut.com/l/_3hAK1XpT6VH5


560. Evaluate: 

Watch Video Solution

∫
3

1
(2x2 + 5x)dx

561. Evaluate the following definite integrals :


Watch Video Solution

∫
2

0

(x2 + 2)dx

562. Evaluate the following definite integrals:


Watch Video Solution

∫
3

0
(x2 + 1)dx

https://dl.doubtnut.com/l/_s9P4qYTTFH5g
https://dl.doubtnut.com/l/_Pqv9JmSLnLrJ
https://dl.doubtnut.com/l/_jFGqYCEkKSgr

